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Molecule Bond Lengths aj +2a; o) —ay ap+2d  ap—a
A] [A%) [A9) [A2) [A2)

CH, C—H (1.09) 1.944

CyHg?”  C—C (1.50) 2.016 1.28 3.13 2.31

CoH C=C(1.32) 4.890 1.65 6.50 2.60

Ceo” C — C (1.46) 1.28 2.304+0.01 2.30 £ 0.30
C = C (1.40) 0.3240.09 7.55+0.40 2.60 =+ 0.36

Cgo® C — C (1.46) 1.2840.20 1.2840.30 1.3540.20
C = C (1.40) 0.0040.20 5.40+0.70 4.50 & 0.50

SWCN®  C = C (1.42) 0.07 5.96 5.47

SWCNY  C = C (1.42) 0.04 4.7 4.0

9 D. W. Snoke and M. Cardona [14].
b)'S. Guha et al. [3].

) E. Richter et al. (unpublished data which is used in their work).
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Raman Intensity [arb units.]
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Al 0O0000O0ODOOOOOOOOOOOO0OOO0OO0OO0O0O
OO0o00bodoboobdobodobdboobodbootondnnd
Oddodoboogboooboodnn

636cm,Alg

L(O) eginvector(zOO)
.00000 0.97800
.22976 0.42400
.45951 -0.19000
.68927 -0.78200
.91902 -0.98400
.14878 -0.71600
.37854 -0.11600
.60829  0.55400
.83805 0.94800
11.06780 0.89000
12.29756  0.41400
13.52732 -0.27400
14.75707 -0.81800
15.98683 -0.97600
17.21659 -0.67000
18.44634 -0.03200
19.67610 0.60800
20.90585 0.96600
22.13561 0.86200
23.36537  0.33600
ugoooood
24.59512 -0.33600
25.82488 -0.86200
27.05463 -0.96600
28.28439 -0.60800

OCONOPWNH—O

29.51415  0.03200
30.74390  0.67000
31.97366  0.97600
33.20341 0.81800
34.43317  0.27400
35.66293 -0.41400

a7
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36.89268 -0.89000
38.12244 -0.94800
39.35219 -0.55400

40.58195 0.11600
41.81171 0.71600
43.04146 0.98600
44 27122 0.78200
45.50097 0.19000
46.73073 -0.42400
47.96049 -0.97800
766cm,Alg

L(O) eginvector(zOO)
.00000 -0.99200
.22976 -0.16400
.45951  0.56600
.68927 0.99200
.91902 0.70400
.14878 -0.06600
.37854 -0.79400
.60829 -0.96600
.83805 -0.46400
11.06780  0.36200
12.29756  0.93400
13.52732 0.85600
14.75707 0.17800
15.98683 -0.62200
17.21659 -0.99000
18.44634 -0.66600

OCONOPWNH—O

19.67610  0.12400
20.90585  0.82600
22.13561 0.95200
23.36537  0.41400

ugoooood
24.59512 -0.41400
25.82488 -0.95200
27.05463 -0.82600
28.28439 -0.12400
29.51415  0.66600
30.74390  0.99000
31.97366  0.62200
33.20341 -0.17800
34.43317 -0.85600
35.66293 -0.93600
36.89268 -0.36200
38.12244  0.46400
39.35219  0.96600
40.58195  0.79400
41.81171 0.06600
43.04146 -0.70600
44 .27122 -0.99200
45.50097 -0.56600
46.73073  0.16400
47.96049  0.99200
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A2 000000

1.000000000000000 = /takeya/for/tube/raman/ 00 0 O
(a)n-m.dat2=000 (n,m)0000000000000000 (b)n-mxyz=00 0
(n,m) 000000 xyz(xmol) (¢)n-mnera=000 (n,m) 000000000
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B.1 00000OOODOOODOOOOOOO
o

file= takeya/for/tube/tube-xyz.f

1.00:

000000000000 display00’00gooogno ¢, ="0000000 20
0000000000 displayO O

nmUdO0000o00ogo

2. 000000:

(tubexyz=00OOD0OODO0O0O0000O0 xmolOODO

(2)en.xyz=phonon 0 0000000000000 O00OO00OO0OO xyzOO
(3)t-ch=00000 phonon 0000000000 OODOOOO file

gooooboooooooooo
xmol OO tube phonon 00O
file= “takeya/for/tube/tube-xyz.f
0oooO0ooooOoog (FILE NAME= C_h) C_h (n,m)
00 tube.xyz (xmol O)
en.xyz2 (OO0 0O)

programed by takao takeya

date 95.10.31,
97.03.03, modified by R. Saito

(el e] g} g} (el e] g} g} (el e] g} g} (el e] g} g} [g]

implicit real*8(a-h,o-z)
parameter (nk=3000)
dimension x(nk),y(nk),z(nk)

60
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c acc: C-C OOOOO
c
acc=1.42d0
c
¢ 0O00O0DOO0ODOOO (FILE NAME= C_h)
c

g}

(el e]

190

(el e]

write(*,*)’ 00000000 C_h =’

read(*,*) n,m

call genii(n,m,np,nq,ndr)
write(*,*)’ OO OOOO R= (C°, np, ’,’, nq , ’)’

gooooooooooo,0oooooo
aslal , pi; 000 sq3 =V 3

sq3=sqrt(3.0d0)
pi=4.0d0*atan(1.0d0)
a=sqrt(3.0d0)*acc

0000000000000 00D00D0000000D000000
r; IRl , c;IC_hl , t;ITI

r=axsqrt (dfloat (np*np+ng*nqg+np+*nq))
c=a*sqrt (dfloat (n*n+m*m+n*m))
t=sqrt(3.0d0) *c/dfloat (ndr)

write(*,*) ’t=’,t, dfloat(n*n+m*m+n*m)
write(*,190)c/2.0d0/pi

format(’ 00O =’,f10.4)

nn: 000000000O0OOO0 N, OOOOO =2N =2 % nn
rs: JO0O000O000O

nn=2* (n**2+m**2+m*n) /ndr

write(*,*)’ OO0 =’,nn*2

if (2*nn.gt.nk)stop’parameter=nk change’

rs=c/(2.0d0*pi)

ql: C_h 0 O0OOODO
q2: R O OOO0OO
q3: C_h 0 R OODOO

gql=atan((sq3*dfloat(m))/dfloat (2*n+m))
q2=atan((sq3*dfloat(nq))/dfloat (2*np+nq))
q3=q1-q2

gq4: A OOO C_h OOOOOO
qb: A OO0 BOOO C_hOOOOOODODO

q4d=abs(r)*cos(q3)/c*2.0d0*pi
q4=2.0d0*pi/dfloat (nn)

if (abs(q4d-q4) .gt.0.0000001) stop ’q4 hen’
gb=acc*cos((pi/6.0d0)+ql)/c*2.0d0*pi

hi: ROOOOO C_h O O0OOOOOOO
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h2: A OO0 BOOO z0O ODOOOOOODO

hi=abs(t)/abs(sin(qg3))
h2=acc*sin((pi/6.0d0)+q1l)
h2=abs (h2)

write(*,%) ’ql: C_h 0 ODODOO =’,q1%180.0d0/pi
write(*,*) ’q2: R O 0OOOOD =’,q2%180.0d0/pi
write(*,%) ’q4: A OO0 C_h OOOOOO =7,
%q4%180.0d0/pi

write(,%*) ’q5: B 000 A OO0 =’,q5%180.0d0/pi

ooooooOoooo0oooOooooon
R ODODODODODODODODDOD (A DD)ODOOOOOOO

ii=0
do 100 i=0,nn-1
x1=0
y1=0
z1=0
k=int (dfloat (i) *abs(r)/h1)
xl=rs*cos(dfloat (i)*q4)
yl=rs*sin(dfloat (i)*q4)
zl=dfloat ((dfloat (i)*abs(r)-dfloat(k)*h1))*sin(q3)
kk2=abs(int (z1/t))+1
if(z1l.gt.t-0.02)then
zl=z1-t*dfloat (kk2)
endif
if(z1.1t.-0.02) then
zl=z1+t*dfloat (kk2)
endif
ii=ii+l
x(ii)=x1
y(ii)=y1

z(ii)=z1
pOOO0O0OOOZOOOOOO.

z3=(dfloat (i) *abs(r)-dfloat(k)*hl)*sin(g3)-h2

ii=ii+l
z3 JO00000000000000 ¢!
if((z3.ge.-0.02) .and.(z3.1le.t-0.02))then
oot

x2 =rs*cos(dfloat(i)*q4-g5)
y2 =rs*sin(dfloat (i)*q4-qg5)
z2 =dfloat(dfloat (i)*abs(r)-dfloat(k)*h1)*sin(q3)-h2
x(ii)=x2
y(ii)=y2
z(ii)=z2
else
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x2 =rs*cos(dfloat(i)*q4-g5)
y2 =rs*sin(dfloat(i)*q4-g5)
z2 =dfloat(dfloat (i)*abs(r)-dfloat (k+1)*h1)*sin(q3)-h2
kk=abs (int (z2/t))+1
if(z2.gt.t-0.01)then
z2=z2-t*dfloat (kk)
endif
if(z2.1t.-0.01) then
z2=z2+t*dfloat (kk)
endif
x(ii)=x2
y(ii)=y2
z(ii)=z2
endif

100 continue
c 000000 xmol O (file name=tube.xyz)

open(60,file=’tube.xyz’)

write(60,*)2*%nn

write(60,%)’

do i=1,nn*2
write(60,117)x(i),y(i),z(1)
end do

117 format(’C’,’> ’,f25.10,’ ’,f25.10,’ ’,£f25.10)

close(60)

c 000000 phonon & OO O (file name=en.xyz2)

open(60,file=’en.xyz2’)
write(60,%)2%nn
write(60,118)t,acc
118 format (2£25.10)
do i=1,nn*2
write(60,116)i,x(i),y(i),z(i)
end do
116 format(i5,’ ’,f25.10,’ ’,f25.10,’ ’,f25.10)
close(60)

c 000000 phonon 0O (file name=t-ch)

c
open(60,file=’t-ch’)
write(60,115)t,c,q4,95,91,93
115 format (5£25.20)
close(60)
stop
end
c

c OO0 ROOOODO tube O parameter OO OOOO
c 10/16/95 R. Saito

subroutine genil(n,m,np,nq,ndr)
dimension nnp(100),nnq(100)



OO0 B 00000000

itest=1
itest1=0

nd=igcm(n,m)

if (mod((n-m),3*nd) .eq.0) then
ndr=3*nd

else

ndr=nd

endif

if(itest.eq.1) nd=nd
if(itest.eq.1) ndr=ndr

a=sqrt(3.0)*1.421
eps=1.0e-5

12=n*n+m*m+n*m

if(12.1e.0) stop ’12.le.0’
1=int(sqrt(dfloat(12))+eps)
dt=a*sqrt(dfloat(12))/3.1415926525

nr=(2*m+n) /ndr
ns=-(2*n+m) /ndr
nt2=3%12/ndr/ndr

nt=int (sqrt(dfloat (nt2))+eps)

nn=2%12/ndr

ichk=0
if(nr.eq.0) then
n60=1
else
n60=nr

endif

itest2=1

do 60 np=-abs(n60),abs(n60)
do 61 ng=-abs(ns),abs(ns)
j2 = nr*nq - ns*np
if(j2.eq.1) then
jl = m *np - n*nq
if( jl.gt.0 .and. jl.lt.nn ) then
ichk=ichk+1
nnp (ichk)=np
nnq(ichk)=nq
endif
endif

61 continue

60 continue

if (ichk.eq.0) then
stop ’ not found p,q strange!!’
endif
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itest3=1
c
if (ichk.ge.2) then
if (itest3.eq.1) then
stop ’ more than 1 pair of p,q strange!!’
endif
if(nr.ne.0 .and. ns.ne.0) then
c

if(itestl.eq.1) then

do 77 i=1,ichk

if ((m*nnp(i)-n*nnq(i)).1lt.nn) goto 777
7 continue

endif

endif
endif

777 continue

c
if(itest.eq.1) then
np=nnp (1)
ng=nnq(1)
endif
2 continue
return
1 continue
stop
end
c

c calculate the highest common devisor
c

integer function igem(ii,jj)
i=abs(ii)
j=abs (j3)
if(j.gt.i) then
iw=j
j=i
i=iw
endif
if(j.eq.0) then
igem=i
return
endif

10  continue
ir=mod(i,j)
if(ir.eq.0) then
igem=j
return
else
i=j
j=ir
endif
goto 10
end
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B.2 nTOODOODOOODOOOODOODOOOOO

1.00:
file= takeya/for/tube/nanbai.f
2.0000:
(1)tube-xyzf 0O DO
(2) 00 nanbai.f000000O
display 00’0000000007 n="00000000 display00 NOOODOODOODO
N
000000000 3.00 file=en.xyz2(tube-xyz.f 000000000D00000OO)
00 file=tubed.xyz(Nt 00000 xmol 0O O)
file=tubenear(Nt 000 0OO0D0OC0O0O)

c
c file="takeya/for/tube/nanbai.f
c
c nT 0O program
[d proguramu by T.Takeya
c
c
implicit real*8(a-h,o0-z)
parameter (nk=5000)
dimension x(nk),y(nk),z(nk)
dimension iic(nk),ic(nk,3),iz(nk,3)
c
write(*,*)’ 0000000007 n=’
read(*,*)n
open(61,FILE=’en.xyz2’)
read(61,*)nn
read(61,%)t
do 10 i=1,nn
read(61,*)j,x(i),y(1),z(1)
10 continue
close(61)
write(*,*)’ 0000000 L=’ ,n*t
aa=1.42d0
open(60,FILE=’en.xyz2’)
write(60,*)nn*n
write(60,124)t*n,aa
do k=1,n
do 11 i=1,nn
write(60,123)i*k,x(i),y(i),z(i)+t*k
124 format (£20.10,°°,£20.10)
123 format (i5,’’,£20.10,°,£20.10,°,£20.10)
11 continue
end do
close(60)
write(*,x)’ OO 00000 =’,n*nn
ii=nn

do 20 i=1,nn
do 21 jj=0,n-1
iii=ii+i+jj*ii
z(1ii)=z(1)+(jj+1)*t
x(iii)=x(i)
y(iii)=y(i)
21 continue

20 continue
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c Nt 0000000000 (xmol deta)

open(60,FILE="Ntube.xyz’)

write(60,*)n*nn

write(60,%)’

do 100 i=1,n*nn
write(60,700)x(i),y(i),z(i)

100 continue

700 format(’°C’,3f10.5)
close(60)

c

[ ooo

do i=1,n*nn
iic(i)=0
do j=1,3
ic(i,j)=0
iz(i,j)=0
end do
end do
do i=1,n*nn
k=0
do j=1,n*nn
bx=x(i)-x(j)
by=y (i)-y(j)
bz=z(i)-z(j)
bb=sqrt (bx*bx+by*by+bz*bz)
if ((bb.gt.0.3d0) .and. (bb.1t.1.6d0)) then
k=k+1
iic(i)=i
ic(i,k)=j
iz(i,k)=1
endif
end do
end do

open(60,FILE="tube.near’)
do i=1,n*nn
write(60,16)iic (i), (ic(i,il),il=1,3),(iz(i,i2),i2=1,3)
16 format (7i5)
end do
close(60)

open(60,FILE="saikn-n’)
write(60,*)n*nn
write (60,*)n*t
i4=0
do 900 i=1,n*nn
ik=i4+i
write(60,750)ik,x(i),y(i),z(i)
750 format(’ ’,i4,3£10.5)
900 continue
close(60)
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stop
end
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B.3 2Db000000O0OOD0OOODOODOODOOOOOOOO

00 file= takeya/for/gra/sindou/g-phononl.f
00 file=xyz1(OODOODO) OO file=gn-phononl(phonon 0000)

c
c———-- 0000000 phonon ODOOOOOOOOOOOOO -====----—- c
c

¢ file="takeya/for/gra/sindou/g-phononi.f

c

c programed by takao takeya
date 96.9.25
cnk; 000 nj; 00O (K-T ,T -M,M-K O)

implicit real*8(a-h,p-z)

implicit complex*16(0)

parameter (nk=18,n=6,nl=n,ne=ni,nv=nl,nf=3,nj=1)
logical 1w

dimension otA(nk),otB(nk)

complex*16 oDAA,oDBB,V

complex*16 oDAB,oDBA,oD

dimension oDAA(n/2,n1/2),0DBB(n/2,n1/2),v(nl1,n1)
dimension oDAB(n/2,n1/2),0DBA(n/2,n1/2),0D(n1,n),ek(nl)
dimension x(nk),y(nk),z(nk)

dimension a(nk,n/2,n1/2),b(nk,n/2,n1/2),vk(n1,n1)
dimension rkx(3,nj+1),rky(3,nj+1)

dimension w(n1,7),e(nl),lw(nl),eee(n,nj*3)

data 0i/(0.0d0,1.0d0)/

pi=atan(1.0d0)*4.0d0

aa=1.42d0*sqrt (3.0d0)
open(61,FILE="xyz1’)
do 10 i=1,nk
read(61,*) x(i),y(i),z(i)
x(i)=x(i)/aa
y(i)=y(i)/aa
z(i)=z(i)/aa

10 continue
close(61)

KA OKB; 0OOUDOOOOO subroutine(KAandKB) 00O OO

c a(kKA 0ODDOO)
c b(KB 0DODOOO)

call Kmatrix(nk,x,y,z,a,b,n,n1)

k0000000 subroutine(Khani) OO OO
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call Khani(nj,nk,rkx,rky)
c write(*,*)k+1

ooooooooo

do 20 i=1,nf
if(i.eq.1) then
nnn=int (float(nj)*sqrt(3.0)/2.0)

endif

if(i.eq.2) then
nnn=int(float(nj)/2.0)

endif

if(i.eq.3) then
nnn=nj+1

endif

do 30 j=1,nnn
do 40 jj=1,nk
otA(jj)=exp(oix(x(jj)*rkx(i,j)+y(jj)*rky(i,j)))
otB(jj)=exp(-oi*(x(jj)*rkx(i,j)+y(jj)*rky(i,j)))
40 continue

c
¢ DO matrix OO (DAA,DAB,DBB,DBA) 00U 00O subroutine(Dmatrix) 0O OO
c
c
c
call Dmatrix(nk,otA,otB,a,b,oDAA,oDBB,oDAB,oDBA,n,nl)
c
c
c
c DOOOOO
c
c
call Ddou(oDAA,oDAB,oDBB,oDBA,oD,n,nl1)
c
c pm; DOOOO
pm=12.0d0/ (6.022137d0)
cc=2.99792458d0
do ipp=1,n
do ip=1,n1
oD (ip,ipp)=oD(ip,ipp)/pm*0.1d0
end do
end do
c
[ oD JOOODOOO
c 00000000 subroutine(deigch) 0O OO
c
c

call deigch(oD,n,nl,ne,nv,eps,w,lw,e,V)
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c ooooooooooooboon

njl=int(float(nj)*sqrt(3.0)/2.0)
nj2=int(float(nj)/2.0)

do 50 ik=1,n
if(e(ik).1t.0.0) then
c write(*,*)’- j’,j,e(ik)
e(ik)=e(ik)*0.0
endif
if(i.eq.1) then
eee(ik, j)=sqrt(e(ik))

endif

if(i.eq.2) then
eee(ik, j+njl)=sqrt(e(ik))

endif

if(i.eq.3) then
eee(ik, j+njl+nj2)=sqrt(e(ik))
if(j.eq.3) then
ek(ik)=eee(ik,j)/cc/2.0d0/pi*10000d0
write (*,*)ek(ik)
endif

endif

rooooooooo0oooooa

if((i.eq.3).and.(j.eq.100)) then
kko=j+njl+nj2
ek(ik)=eee (ik,kko)/cc/2.0d0/pi*10000d0
k=]
do jkf=1,n
vk (jkf,ik)=v(jkf,ik)
end do

endif

50 continue
30 continue
20 continue
write(*,*) (ek(k),k=1,n),k

oooooo

o o o

mnm=236
nll=100
st=pi/6.0d0/6.0d0*0.0d0
ddk=aa
write(*,*)nj1,nj2,nj
c rm=5.5937692037053D-06
c write(*,*) rm/cc/2.0d0/pix1d1
[ &*2.0d0*cc*ddk*nll*pi/3.6275987d0
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open(60,file=’gn-phonon’)
iii=0

do 60 i=1,n/2
iii=iii+l
do 70 jk=1,nj+njil+nj2+1
rk=float (jk)
write(60,200) rk,eee(iii,jk)/cc/2.0d0/pi*10000d0
if (jk.eq.mnm) then
write(*,*) rk,(eee(iii,jk))/cc/2.0d0/pix*1d1
&*2.0dO*cc*ddk*nll*pi/S.6275987d0
endif
70 continue
iii=iii+1
do 80 jk=nj+nji+nj2+1,1,-1
rk=float (jk)
write(60,200) rk,eee(iii,jk)/cc/2.0/pi*10000d40
if (jk.eq.mnm) then
write(*,*) rk,eee(iii,jk)/cc/2.0d0/pix*1d1
&*2.0dO*cc*ddk*nll*pi/S.6275987d0
endif
80 continue
60 continue
200 format (E10.5,’ ’,E10.5)
close(60)

c ro 0000 (file name=g-eval) 00O

open(60,file=’g-eval’)
write(60,300) (ek(j),j=1,n)
write(60,%*)°’ °
do 320 k=1,n
write(60,300) (vk(k,j),j=1,n)
300 format (100£10.4)
320 continue
close(60)

c ro 0000000 (file name=g-evec) OO0

open(60,file=’g-evec’)
do 500 i=1,n
do 600 j=1,n
write(60,310) i,j,v(i,]j)

310 format (’evector(’,i5,’,’,i5,’)=’,f10.5,f10.5)
600 continue
500 continue

close(60)

open(60,file=’jm’)
write(60,*)n
close(60)

stop
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end
e e e
c
c D 0000 subroutine(Ddou)
c
G e e
subroutine Ddou(oDAA,oDAB,oDBB,oDBA,oD,n,nl)
implicit real*8(a-h,p-y)
implicit complex*16(o)
dimension oDAA(n/2,n1/2),0DBB(n/2,n1/2)
dimension oDAB(n/2,n1/2),0DBA(n/2,n1/2),0D(n,n1)
c
c
c D OODOO
c
do 10 i=1,n
do 20 ii=1,n1
oD(i,1i)=(0.0d0,0.0d0)
20 continue
10 continue
c
c
do 40 i=1,n
do 50 j=1,n1
if(i.le.n/2) then
if(j.le.n1/2) then
oD(i,j)=oDAA(i,])
else
oD(i,j)=oDAB(i,j-n1/2)
endif
endif
if(i.ge.n/2+1) then
if(j.le.n1/2) then
oD(i,j)=oDBA(i-n/2,j)
else
oD(i,j)=0DBB(i-n/2,j-n1/2)
endif
endif
50 continue
40 continue
return
end
G e e
c
c KOOOOOOO subroutine(Khani)
c
G o e
subroutine Khani(nj,nk,rkx,rky)
implicit real*8(a-h,p-y)
parameter (nf=3)
dimension rkx(nf,nj+1),rky(nf,nj+1)
c

pi=atan(1.0)*4.0
c a program for kx, ky data for graphite

K-G-M-K line R. Saito 0Oct.28 1991
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c 0.0 0.0 gamma
c 3.6275987 0.0 M
c 3.6275987 2.0943951 K

c O KGM=st
st=pi/6.0d0/6.0d0*0.0d0
ss=abs(sin(st))

cs=abs(cos(st))

c from G to M

x1=0.0d0

x2=3.6275987d0

y1=0.0d0

¥2=0.0d0

n=int (sqrt(3.0)*float(nj)/2.0)

dx=(x2-x1)/float(n)
dy=(y2-y1)/float(n)

do 1 i=1,n
rkx(1,i)=x1+dx*float (i-1)
rky(1,1)=0.0d0
1 continue
c
c from M to K
c
x1= 3.6275987d0
x2=3.6275987d0*cs
y1=0.0d0
y2=3.6275987d0*ss

cc y2= -3.6275987d0*abs (tan(st))
n=int (float(nj)/2.0)

dx=(x2-x1)/float(n)
dy=(y2-y1)/float(n)

do 2 i=1,n
rkx(2,1i)=x1
rky(2,1i)=yl+dy*float(i-1)
2 continue
c
c from K to I'
c
x1= 3.6275987d0*cs
x2=0.0d0
yl= 3.6275987d0%*ss
y2=0.0d0
n=nj

write(*,*)’nj=’,n

dx=(x1-x2)/float(n)
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dy=(y1-y2)/float(n)

do 3 i=1,n
rkx(3,1i)=x1-dx*float(i-1)
c rkx(3,1)=3.6275987d0*cs*float (i)
rky(3,1)=3.6275987d0*ss/float (i)
3 continue
rkx(3,n+1)=0.0d0
rkx(3,n+1)=0.0d0
return

end

DOOO (DAA,DAB,DBB,DBA) 0000 subruitn(Dmatrix)

subroutine Dmatrix(nk,otA,otB,a,b,oDAA,oDBB,oDAB,oDBA,n,nl)

implicit real*8(a-h,p-y)

implicit complex*16(o)

dimension otA(nk),otB(nk)

dimension oDAA(n/2,n1/2),0DAB(n/2,n1/2)
dimension oDBB(n/2,n1/2),0DBA(n/2,n1/2)
dimension a(nk,n/2,n1/2),b(nk,n/2,n1/2)

pi=atan(1.0d0)*4.0d0

do 10 ii=1,n/2
do 20 iii=1,n1/2
oDAA(ii,1i1)=(0.0d0,0.0d0)
oDBB(ii,1ii)=(0.0d0,0.0d0)
oDAB(ii,1ii)=(0.0d0,0.0d0)
oDBA(ii,1ii)=(0.0d0,0.0d0)
20 continue
10 continue

do 30 i=1,nk
do 40 j=1,n/2
do 50 jj=1,n1/2

c DAA,DBBUODODO
if((i.ge.4).and.(i.le.9)) then
oDAA(j,jj)=oDAA(j,jj)-otA(i)*a(i,j,jjd)+a(i,j,j])

oDBB(j,jj)=oDBB(j,jj)-otB(i)*b(i,j,jj)+b(i,j,jj)
else



OO0 B 00000000

76

c DAB,DBAOODOOO

oDAA(j,jj)=oDAA(j,jjd)+a(i,j,jj)
oDBB(j,jj)=0DBB(j,jj)+b(i,j,jj)
oDAB(j,jj)=oDAB(j,jj)-otA(i)*a(i,j,jj)
oDBA(j,jj)=0DBA(j,jj)-otB(i)*b(i,j,jj)

endif

50 continue

40 continue

30 continue
return

end

KA OKB; 0OUOOUODOOOO subruitn(Kmatrix)

subroutine Kmatrix(nk,x,y,z,a,b,n,nl)
implicit real*8(a-h,p-z)

dimension x(nk),y(nk),z(nk)

dimension a(nk,n/2,n1/2),b(nk,n/2,n1/2)

pi=atan(1.0)*4.0

do 10 i=1,nk

if(i.le.3) then
fr=36.5d0
fti=24.5d0
£t0=9.82d0
endif

if((i.ge.4).and.(i.le.9)) then
fr=8.80d0
fti=-3.234d0
fto=-0.40d0

endif

if((i.ge.10).and.(i.le.12)) then
fr=3.00d0
fti=-5.25d0
ft0=0.15d0
endif

if((i.ge.13).and.(i.le.18)) then
fr=-1.92d0
££i=2.29d0
fto=-0.58d0

endif

g}

KAODOOOOOOO (st,st+pi OO0OOOOOOOOOO)

(el e]
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if(x(i).eq.0) then
st=pi/2.0d0
else
st=atan(y(i)/x(i))
endif

[ 0oodd;all,al2,a13,....a33

cs=cos(st)

ss=sin(st)
a(i,1,1)=fr*cs*cs+fti*ss*ss
a(i,1,2)=fr*cs*ss-fti*ss*cs
a(i,1,3)=0.0d0
a(i,2,1)=a(i,1,2)
a(i,2,2)=fr*ss*ss+ftikcs*cs
a(i,2,3)=0.0d0
a(i,3,1)=0.0d0
a(i,3,2)=0.0d0
a(i,3,3)=fto

KBOOOOOOOO

b(i,1,1)=a(i,1,1)
b(i,1,2)=a(i,1,2)
b(i,1,3)=0.0d0
b(i,2,1)=a(i,2,1)
b(i,2,2)=a(i,2,2)
b(i,2,3)=0.0d0
b(i,3,1)=0.0d0
b(i,3,2)=0.0d0
b(i,3,3)=fto

10 continue
return
end

SUBROUTINE DEIGCH(A,N,Ni,NE,NV,EPS,W,LW,E,V)
IMPLICIT REAL*8 (A-H, 0-Z)

COMPLEX*16 A,V,CR,CS,X

LOGICAL SW, LW

DIMENSION A(N1,N1), E(N1), V(N1i,N1), W(N1,7), LW(N1)
DREAL (X) =X

DIMAG(X)=-X*(0.0D0,1.0D0)

X=X

IF(N.LE.O .OR. NE.EQ.0 ) GO TO 910

NEA=IABS (NE)

NVA=IABS (NV)
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IF(N1.LT.N .OR. N.LT.NEA .OR. NEA.LT.NVA ) GO TO 920
IF(EPS.LT.0.D0) EPS=1.D-16
NM1=N-1
N2=N-2
IF(N2) 10, 20, 50
C WHEN N=1
10 E(1)=A(1,1)
IF( NV.NE.O ) V(1,1) = 1.0DO
GO TO 900
WHEN N=2
C COMPUTE EIGENVALUES OF 2%2 MATRIX
20 CALL ERRSET(207,256,-1,1)
W(1,1)=A(1,1)
W(2,1)=A(2,2)
W(1,2)=CDABS(A(2,1))
A(1,1)=A(2,1)/W(1,2)
T = 0.5DO*(W(1,1)+W(2,1))
R=W(1,1)*W(2,1)-W(1,2)**2
D=T*T-R
Q=DABS (T)+DSQRT (D)
IF(T.LT.0.) Q=-Q
T=T*DFLOAT (NE)
IF(T) 40, 30, 30
30 E(1)=Q
IF(NEA.EQ.2) E(2)=R/Q
GO TO 310
40 E(1)=R/Q
IF(NEA.EQ.2) E(2)=Q
GO TO 310
WHEN N=3,4,...
C REDUCE TO TRIDIAGONAL FORM BY HOUSEHOLDER’S METHOD
50 DO 60 I=1,N
60 W(I,1)=A(I,I)
DO 190 K=1,N2
K1=K+1
S=0.
DO 70 I=K1,N
70 S=S+DREAL(A(I,K))**2+DIMAG(A(I,K))**2
SR = DSQRT(S)
T=CDABS(A(K1,K))
W(K,2)=-SR
IF(T) 90, 80, 90
80 A(K,K) = 1.0DO
GO TO 100
90 A(K,K)=A(K1,K)/T
100 IF(S.EQ.0.) GO TO 190
R = 1.0D0/ (S+T*SR)
A(K1,K)=A(K1,K)+SR*A (K,K)
DO 140 I=K1i,N

€s=(0.,0.)
IF(I.EQ.K1) GO TO 120
IML = I-1

DO 110 J=K1,IMi1

110 CS=CS+A(I,J)*A(J,K)

120 CS=CS+W(I,1)*A(I,K)
IF(I.EQ.N) GO TO 140
IP1 = I+1
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DO 130 J=IP1,N
130 CS=CS+DCONJG(A(J,I))*A(J,K)
140 A(I,I)=CS*R
€s=(0.,0.)
DO 150 I=K1,N
150 CS=CS+DCONJG(A(I,K))*A(I,I)
CS = 0.5DO*R*CS
DO 160 I=K1,N
160 A(I,I)=A(I,I)-CS*A(I,K)
DO 170 I=K1,N
170 W(I,1) = W(I,1)-2.0DO*DREAL (A(I,K)*DCONJG(A(I,I)))

IP1 = K+2
DO 180 I=IP1,N
IM1 = I-1

DO 180 J=K1,IMi
180 A(I,J)=A(I,J)-A(I,K)*DCONJIG(A(J,J))-A(I,I)*DCONJIG(A(JI,K))
190 CONTINUE
W(NM1,2)=CDABS (A(N,NM1))
A(NM1,NM1)=A(N,NM1) /W(NM1,2)
C COMPUTE EIGENVALUES BY BISECTION METHOD
CALL ERRSET(207,256,-1,1)
R=DMAX1 ((DABS(W(1,1))+DABS(W(1,2))), (DABS(W(NM1,2))+DABS(W(N,1))))
DO 200 I=2,NM1i
T=DABS (W(I-1,2))+DABS(W(I,1))+DABS(W(I,2))
IF(T.GT.R) R=T
200 CONTINUE
EPS1=R*0.1D-15
EPS2=R*EPS
DO 210 I=1,NM1
210 W(I,3)=W(I,2)**2
IF(NE.LT.0) R=-R
F=R
DO 220 I=1,NEA
220 E(I)=-R
DO 300 K=1,NEA
D=E(K)
230 T = 0.5D0%(D+F)
IF(DABS(D-T) .LE.EPS2 .OR. DABS(F-T).LE.EPS2 ) GO TO 300
J=0
I=1
240 Q=W(I,1)-T
250 IF(Q.GE.0.) J=J+1
IF(Q.EQ.0.) GO TO 260
I=I+1
IF(I.GT.N) GO TO 270
CALL OVERFL(L)
Q=W(I,1)-T-W(I-1,3)/Q
CALL OVERFL(L)
IF(L.NE.1) GO TO 250
J=J+1
I=I-1
260 I=I+2
IF(I.LE.N) GO TO 240
270 IF(NE.LT.0) J=N-J
IF(J.GE.K) GO TO 280
F=T
GO TO 230
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280 D=T
M=MINO(J,NEA)

DO 290 I=K,M

290 E(I)=T
GO TO 230

300 E(K)=T

C COMPUTE EIGENVECTORS BY INVERSE ITERATION

310 CALL ERRSET(207, 10, 5,2)
IF(NV.EQ.0) GO TO 900
MM=584287
CALL ERRSET(207,256,-1,1)

DO 490 I=1,NVA

DO 320 J=1,N
W(J,3)=W(J,1)-E(D)
W(J,4)=W(J,2)

320 W(J,7) = 1.0DO

SW=.FALSE.

C REDUCE TO TRIANGULAR FORM
DO 340 J=1,NM1
IF(DABS(W(J,3)).LT.DABS(W(J,2))) GO TO 330
IF(W(J,3).EQ.0.) W(J,3)=1.0D-30
W(J,8)=W(J,2)/W(J,3)
LW(J)=.FALSE.
W(J+1,3)=W(J+1,3)-W(J,6)*W(J,4)
W(J,5)=0.
GO TO 340

330 W(J,6)=W(J,3)/W(J,2)
LW(J)=.TRUE.

W(J,3)=W(J,2)

T=W(J,4)

W(J,4)=W(J+1,3)
W(J,5)=W(J+1,4)
W(J+1,3)=T-W(J,B8)*W(J,4)
W(J+1,4)=-W(J,6)*W(J,5)

340 CONTINUE

IF(W(N,3).EQ.0.) W(N,3)=1.0D-30
C BEGIN BACK SUBSTITUTION
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GE.EPS1) GO TO 360
C GENERATE RANDOM NUMBERS
DO 350 J=1,N
MM=MMx48828125
350 W(J,7)=FLOAT(MM)*0.4656613E-9
360 CALL OVERFL(L)
T=W(N,7)
R=W(N-1,7)

370 W(N,7)=T/W(N,3)
W(N-1,7)=(R-W(N-1,4)*W(N,7))/W(N-1,3)
CALL OVERFL(L)

IF(L.NE.1) GO TO 390
DO 380 J=1,N2

380 W(J,7)=W(J,7)*1.0D-5
T=T*1.0D-5
R=R*1.0D-5
GO TO 370

390 IF(N.EQ.2) GO TO 440
K=N2

400 T=W(K,7)
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410 W(K,7)=(T-W(K,4)*W(K+1,7)-W(K,5)*W(K+2,7)) /W(K,3)
CALL OVERFL(L)
IF(L.NE.1) GO TO 430
DO 420 J=1,N
420 W(J,7)=W(J,7)*1.0D-5
T=T*1.0D-5
GO TO 410
430 K=K-1
IF(K) 440,440,400
440 IF(SW) GO TO 470
SW=.TRUE.
DO 460 J=1,NM1
IF(LW(J)) GO TO 450
W(I+1,7)=W(J+1,7)-W(J,8)*W(J,7)
GO TO 460
450 T=W(J,7)
W(I,7)=W(J+1,7)
W(I+1,7)=T-W(J,6)*W(J+1,7)
460 CONTINUE
GO TO 360
470 DO 480 J=1,N
480 V(J,I)=W(J,7)
490 CONTINUE
C BEGIN BACK TRANSFORMATION (1)
CR = 1.0DO
DO 500 J=2,N
CR=CR*A(J-1,J-1)
DO 500 I=1,NVA
500 V(J,I)=V(J,I)*CR
C BEGIN BACK TRANSFORMATION (2)
CALL ERRSET(207, 10, 5,2)
IF(N.EQ.2) GO TO 600
DO 590 I=1,NVA
K=N2
550 CR=-A(K+1,K)*DCONJG(A(K,K))*W(K,2)
IF (DREAL(CR) .EQ.0.0 .AND. DIMAG(CR).EQ.0.0) GO TO 580
CR = 1.0DO/CR
€s=(0.,0.)
IP1 = K+1
DO 560 J=IP1,N
560 CS=CS+DCONJG(A(J,K))*V(J,I)
CR=CR*CS
DO 570 J=IP1,N
570 V(J,I)=V(J,I)-CR*A(J,K)
580 K=K-1
IF(K.GE.1) GO TO 550
590 CONTINUE
600 CONTINUE
C NORMALIZE EIGENVECTORS
C NORMALIZE AS MAXIMUM ELEMENT=1
DO 620 I=1,NVA
T=DABS (DREAL(V(1,I)))+DABS(DIMAG(V(1,I)))
K=1
DO 610 J=2,N
R=DABS (DREAL (V(J,I)))+DABS(DIMAG(V(J,I)))
IF(T.GE.R) GO TO 610
T=R
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K=J
610 CONTINUE
CR = 1.0DO/V(K,I)
DO 620 J=1,N
620 V(J,I)=V(J,I)*CR
IF(NV.LT.0) GO TO 900
C ORTHOGONALIZE AS NORM=1
DO 680 I=1,NVA
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GT.EPS) GO TO 650
M1 = I-1
DO 640 J=M,IM1
€s=(0.,0.)
DO 630 K=1,N
630 CS=CS+DCONJG(V(K,J))*V(XK,I)

DO 640 K=1,N
640 V(K,I)=V(K,I)-CS*V(K,J)
GO TO 660
650 M=I
C NORMALIZE AS NORM=1
660 S=0.
DO 670 J=1,N

670 S=S+DREAL(V(J,I))**2+DIMAG(V(J,I))**2
T = DSQRT(1.0D0/S)
DO 680 J=1,N

680 V(J,I)=V(J,I)*T

900 RETURN

C PRINT ERROR MESSAGE

910 WRITE(6,1000) N,NE
GO TO 900

920 WRITE(6,1100) NV,NE,N,Ni
GO TO 900

1000 FORMAT(1HO,’ (SUBR. DEIGCH) N=’,I5,’ ,NE=’,I5,” N SHOULD BE GREATER
1 THAN ZERO AND NE SHOULD BE NON-ZERO. RETURN WITH NO CALCULATION.
2 7)

1100 FORMAT(1HO,’ (SUBR. DEIGCH) NV=’,I5,’,NE=’,I5,’,N=’,I5,’,Ni=’,I5,
1’ NV,NE,N,N1 SHOULD SATISFY THE FOLLOWING INEQUALITIES, !NV! <= IN
2E! <= N <= N1 .’ /1H ,’RETURN WITH NO CALCULATION.’ )

END

SUBROUTINE ERRSET(I,J,K,L)
RETURN

END

SUBROUTINE OVERFL(L)
RETURN

END
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B4 00000O0OO0OODOOOOOOOOO

00 : takeya/for/tube/tu-phononl.f
O00: enxyz2 (00000 tube-xyz.f)
t-ch (00000 tube-xyz.f)

00: tu-phononl.dat
ctueval. 000000 OOODO

¢ file="takeya/for/tube/tu-phononl.f
programed by takao takeya

c date 96.10.07
c 97.03.03 modified by R. Saito

(el e]

00 en.xyz2 (UOOO0OO tube-xyz.f)
t-ch (00000 tube-xyz.f)
c 00O tu-phononl.dat

g}

(el e]

nk; OO0, ns; 000000C0O, nj; k OODODOD

ndmax; D000 00000 (00 ndmax OO 00)s

c ndmax1; D0 00000000 ?(1=<ndmax1=<ndmax)
implicit real*8(a-h,p-z)

g}

implicit complex*16(0)

c 0O;000;nk OOO0O

parameter (nk=40,nl=nk#*3,n=ni,ne=nl,nv=ni,nj=1,ns=18)
parameter (ndmax=4,ndmax1=4)

logical 1w

complex*16 oD,V

dimension oD(nl,n),V(ni,n1),vk(nl,nl),ek(n),epo(nl)
dimension x(nk),y(nk),z(nk),ic(nk,ns),rz(nk,ns)
dimension a(nk,ns,3,3),iken(nk,ns),a2(nk,ns,3,3)
dimension qqq(nk),eee(nk#*3,nj+1),xx(nk),qgka(nk,ns)
dimension w(n1,7),e(nl1),lw(nl),qkaa(nk,ns),dn(ndmax)
dimension fr(ndmax),fti(ndmax),fto(ndmax),nakc(nk,ns)
dimension a3(nk,ns,3,3),a4(nk,ns,3,3),daa(nk,ns)

dimension ar(4),ati(4),ato(4)

pi=atan(1.0d0)*4.0d0
eps=1.0d-16

ppp=6.6890
write(*,*)165%(ppp/6.78) **(-1)

pm: 0000000
cc: 0ODO

pm=12.0d0/ (6.022137d0)
€c=2.99792458d0
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10

21

do i=1,n1
epo (1)=0.0d0

end do

nss; Ondmax1 0000000 ODOODOOO
nss=0
enk=0.0d0
do i=1,ndmax1
if (mod(i,2).eq.1) then
nss=3+nss
else
nss=6+nss
endif
end do
write(*,x)’ OO0O0O0O =’,nss

factor(0O<factor=<1.0)): k 0000000000 OOODOOOOO
ge
=1.0 T/pi OO
factor = 1.00d40

nn2; 000

open(61,FILE=’en.xyz2’)
read(61,*) nn2
read(61,*) t,acc

write(x,*)’ 00000000 C.h = (°, nCh,’,’, mCh ,’)’
if (nn2.ne.nk) stop’nn2.ne.nk=change nk’

do 10 i=1,nn2

read(61,%) idum,x(i),y(i),z(i)

continue

write(*,%*)

close(61)

aa=1.42d0
if (abs(aa-acc).gt.0.001) stop ’check acc or aa’
ch;IC_hl,t;ITl,qa;A 00000 ,A O0OOOOOB 00000
open(61,FILE="t-ch’)
read(61,21) t,ch,qa,qgb,lo
format (5£25.20)
close(61)
0000000000000 subroutine 00O O00OOO
call kinsetu(nn2,ndmax,ndmaxl,x,y,z,nk,ns

&,t,ic,rz,iken,ch,qa,qgb,qqq,xx,qka,qkaa,dn,nss,nakc
&,daa)

00000000 subroutine(Kmatrix) 0000
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g}

g}

[

ccC

ccC

ccC

ccC

ccC

g}

(el e]

30

call Kmatrix(nn2,nk,ns,ndmax,ndmaxl,a,a2,t,ch,qa,qb,
&iken,ic,qqq,rz,x,y,z,qka,qkaa,dn,nss,fr,fti,fto,nakc,a3,as

&,daa,ar,ato,ati)

dkmax: k 0000 zone O pi/t
nj: 000 (parameter JODODOOO)
factor: JO00O0O0O0O0OO0OOOOOOODOOO?

kkk=0

dkmax=pi/t*factor
dk=dkmax/dfloat (nj)
dk=49.19024d0*1.0
write(*,*)1.0d0/dkx*t/pi
dk=d0

Main do loop: OOOOOO0ODOOO

do 20 i=1,nj+1
rt=1.0d0/dk*dfloat (i-1)

k 00000 Dynamical Matrix O oDUUUOO subroutine(Dmatri

call Dmatrix(nn2,0D,a,nk,ns,nss,n,nl,rt,rz,ic,a3,ad,a2)

oD DOOOODODO
00000000 subroutine(deigch) 0O OO

0000oooo ro (i=1) 0000000 DO0OO

if(i.eq.1) then
nnv=n
else
nnv=0

end if

nnv=n

call deigch(oD,n,nl,ne,nnv,eps,w,lw,e,v)

ooooooooooooboon

ekk1=0.0d0
k=0
do 30 j=1,n
if(i.eq.1) then
if(e(j).1lt.eps)then
write(*,*) ’e(j)<0 ,i , j = ’,e(j),1,]j
e(j)=0.0d0
endif

endif

k=k+1

continue

do j=1,n
eee(j,1i)=sqrt(e(j))/cc/2.0d0/pi*1.0d3
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end do
c roooo0oooooooooooog

ng=1

if(i.eq.ng) then
do j=1,n
ek(j)=eee(j,1i)
do jj=1,n
vk(jj,j)=v(jj,i)
end do
end do
endif

cc

121 continue

c

¢ k 00 main loop OO

c

20 continue

0000000 (kx/pi 0OD0)

(el e]

open(60,file=’velo’)
do i=n1-50,n1
write(60,111)1,
&eee(i,nj+1)*cc/0.0001*t*2.0/10d2
111 format (i5,’ ’,£10.5)
end do
close (60)

write(*,*)eee(nl,nj+1)

write(*,*)eee(ni-2,nj+1)

write(*,*)eee(ni-3,nj+1)

write(*,*)eee(nl,nj+1)*cc/0.001*t*2.0

write(*,*)eee(nl-2,nj+1)*cc/0.001*t*2.0

write(*,*)eee(nl-3,nj+1)*cc/0.001*t*2.0
c 00 file(=tu-phononl.dat) 00 00O

open(60,file=’tu-phononi.dat’)

k1=0
do 40 j=1,nn2%3

0o oo

[g]
.

if (mod(j,2).eq.1) then
do 50 i=1,nj+1
k1l=kl+1
rt=dk*dfloat (i-1)*t/pi
write(60,100)rt,eee(j,1)
100 format (£10.5,’ ’,f12.5)
50 continue
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c jO OO
c
else
do 70 i=nj+1,1,-1
k1=kl+1
rt= dkxdfloat(i-1)*t/pi
write(60,100)rt,eee(j,1)
70 continue
endif
c
40 continue
c
close(60)
write(*,*)kl
c

c rogfjo0,000000oon file(tu-eval)

c for xmol & raman [J

c
cc kp=0
open(60,file=’tu-eval’)
nn=int (nn2*3/8)+1
c
kpp=0
do jji=1,nn
c if((jji-1)*8+8.ge.nn2%3)
if (kpp.eq.1) goto 210
if ((jji-1)*8+8.ge.nn2%3) then
kpp=kpp+1
write(60,200) (ek(i),i=1+8%(jji-1),nn2%3)
else
write(60,200) (ek(i),i=1+8%(jji-1),8+(jji-1)*8)
endif
c
write(60,%)°’ °
do i=1,nn2%3
if((jji-1)*8+8.ge.nn2%3) then
write(60,200) (vk(i,j),j=1+8%(jji-1),nn2%3)
else
write(60,200) (vk(i,j),j=1+8%(jji-1),8+(jji-1)%8)
endif
200 format (10000£10.4)
end do
write(60,%*)°’ °
end do
210 continue
close(60)
c check
c

c 000000000 000000000 itest =1 0000
nvk : 00O000DO0O00ODOOO0 (i-n) n 0O0O0ODOOODODOOO
c 00O file g-eval : JOODOO (OO)

c tasi vk JO0OOO0OOCOO
itest=1
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nvk =116
if(itest.eq.1) then

open(60,file=’g-eval’)

do i=1,n

write(60,108)i, ek(i)
108 format (i4,2x,f10.3)

end do

close(60)

open(60,file=’tasi’)

do i=1,nn2

write(60,220) i,x(i),y(i),z(i),

& vk (3*%i-2,nvk) ,vk(3*i-1,nvk),vk(3*i,nvk)

220 format (i5,6f15.10)

end do

close(60)

end if

0000000000000 subroutin(kinsetu)

subroutine kinsetu(nn2,ndmax,ndmax1,x,y,z,nk,ns,t,ic,rz,
&iken,ch,qa,qb,qqq,xx,qka,qgkaa,dn,nss,nakc,daa)

implicit real*8(a-h,p-z)

implicit complex*16(o)

dimension x(nk),y(nk),z(nk),rz(nk,ns),qqq(nk),xx(nk),qka(nk,ns)
dimension ic(nk,ns),iken(nk,ns),gkaa(nk,ns),dn(ndmax),nakc(nk,ns)

dimension daa(nk,ns)

pi=atan(1.0d0)*4.0d0

aa=1.42d0

eps2=1.0d-6

0 n(n=1,2,3,4) 0000000 dn(n=1,2,3,4)

dn(1)=aa
dn(2)=dsqrt(3.0d0) *aa
dn(3)=2.0d0*aa
dn(4)=dsqrt(7.0d0)*aa
unit cell DO0O0DOO0D0ODOOODOO ;jnan*t
nan=int (dn(ndmax1)/t)+1

tube DO00OOO00O0OOO0OOOODOOO

do i=1,nk
if (abs(x(i)).le.eps2) then
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if(y(i).gt.-eps2) then
qqq(i)=pi/2.0d0

goto 18

else
qqq(i)=pi*3.0d0/2.0d0
goto 18

endif

endif

if(abs(y(i)).le.eps2) then
if(x(i).gt.-eps2) then
99q(i)=0.0d0
goto 18
else
qqq(i)=pi
goto 18
endif
endif

qqq(i)=atan(y(i)/x(i))

if(qqq(i) .le.eps2) then
if(x(i).ge.0.0d0) then
9qq(i)=qqq(i)+2.0d0*pi
goto 18

else
qqq(i)=qqq(i)+pi
goto 18
endif

endif

if(qqq(i) .gt.eps2) then
if(x(i).gt.0.0d0) then
qqq(i)=qqq(i)

goto 18
else

qqq(i)=qqq(i)+pi

goto 18

endif

endif

18 continue
if(qqq(i).gt.2.0d0*pi)stop’qqq’
c write(*,*)qqq(i)*180/pi
end do
rr=ch/(2.0d40%pi)
open(60,file=’kei’)
write(60,*)nk
write(60,*)’

do i=1,nk
write(60,12)rr*cos(qqq(i)) ,rr*sin(qqq(i)),z (1)
12 format (°C’,3£f10.5)
end do

close(60)
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(el e] g}

g}

rr;tube OO0

rr=ch/(2.0d0*pi)
do i=1,nn2
xx(1)=rr*qqq(i)
end do
write(*,*)2.0%pi*rr,ch

write(*,*)qqq(2),xx(2)

On OJ0000DOO0ODOOOODOO

nan2=int (dn(ndmax1)/ch)+4

do 10 i=1,nn2
k=0

ii:T 00000

do 60 ii=1,nan
do 30 j=1,nn2

st=0.0d0
if(ii.eq.1) then

iii:Ch JOOO00O0

do 123 iii=-nan2,nan2
x1=xx(j)+dfloat(iii)*ch-xx(i)
bi=sqrt( xi*x1 + ( z(j)-z(i) ) * ( z(j)-z(1) ) )

000000000000 (10 ndmax1) 00000

do ijj=1,ndmax1
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0

endif

if((bl.gt.dmin).and.(bl.1t.dmax)) then

k=k+1

ic(i,k)=j

rz(i,k)=z(j)-z(1)

iken(i,k)=ijj

gka(i,k)=x1

gkaa(i,k)=xx(j)+dfloat(iii)*ch-xx(i)

nakc(i,k)=iii

daa(i,k)=sqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2
&+ (y(§)-y (1)) **2)

endif

end do
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123

30

g}

(el e]

oooo

g}

continue
endif

continue

0ooooooooo;+t)

do 40 j=1,nn2

do 124 iii=-nan2,nan2
x1=xx(j)+dfloat (iii)*ch-xx (i)
z2=z(j)+dfloat (ii)*t

b2=dsqrt (x1*x1+(z2-z(1))*(z2-z(1)))

do ijj=1,ndmax1
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0

endif

if((b2.gt.dmin) .and. (b2.1t.dmax)) then
k=k+1
ic(i,k)=j
rz(i,k)=z2-z(i)
iken(i,k)=ijj
gka(i,k)=x1
gkaa(i,k)=xx(j)+dfloat(iii)*ch-xx(1i)
nakc(i,k)=iii
daa(i,k)=dsqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2

&+ (y(§)-y (1)) **2)

124
40

c O;(-t)

endif
end do

continue

continue

do 50 j=1,nn2
do 125 jiii=-nan2,nan?2
x1=xx(j)+dfloat(iii)*ch-xx(i)
23=z(j)-dfloat (ii)*t
b3=sqrt (x1*x1+(z3-z(1))*(23-2(i)))

do ijj=1,ndmax1
dmax=dn(ijj)+0.1d0
if(ijj.eq.1) then
dmin=0.3d0
else
dmin=dn(ijj-1)+0.1d0
endif

if ((b3.gt.dmin) .and. (b3.1t.dmax)) then
k=k+1
ic(i,k)=j
rz(i,k)=z3-z(i)
iken(i,k)=ijj
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gka(i,k)=x1

gkaa(i,k)=xx(j)+dfloat(iii)*ch-xx(i)

nakc(i,k)=iii

daa(i,k)=dsqrt(rz(i,k)*rz(i,k)+(x(j)-x(i))**2
&+(y(§)-y (1)) **2)

endif
end do
125 continue
50 continue
60 continue
if (k.ne.nss) then
write(*,*) ’nss,i,k <> =’,nss ,i,k
endif
if (k.ne.nss) stop’k-kinsetu’
10 continue
return
end
= e c
c
c
c DUOOOUOOO subruitn(Dmatrix)
c
Lo e it c

subroutine Dmatrix(nn2,o0D,a,nk,ns,nss,n,nl,rt,rz,ic,a3,a4,a2)
implicit real*8(a-h,p-z)

implicit complex*16(o)

dimension oD(nl1,n),a3(nk,ns,3,3),a4(nk,ns,3,3)

dimension a(nk,ns,3,3),rz(nk,ns),ic(nk,ns),a2(nk,ns,3,3)

data 0i/(0.0d0,1.0d0)/

c
c
pi=4.0%*atan(1.0)
c
c D OODODO
c
do 1 i=1,n1
do 2 j=1,n
oD(i,j)=(0.0d0,0.0d0)
2 continue
continue
c
c
c pm; O0,cc; 00
pm=12.0d0/(6.022137d0)
cc=2.9979245840
c
do 100 i=1,nn2
k=0
do 110 ii=1,nss
kp=ic(i,ii)
do 5 j=1,3
do 6 jj=1,3
c

kj=j+(i-1)*3

kjj=jj+(kp-1)*3

al=a(i,ii,j,jj)
oD(kj,kjj)=-exp(oi*rt*rz(i,ii))*al/(pm*0.1d0)



OO0 B 00000000

& +oD(kj,kjj)
6 continue
5 continue
110 continue

100 continue

do 10 i=1,nn2
k=0
do 20 ii=1,nss
do j=1,3
do jj=1,3
k=k+1
al=a(i,ii,j,jj)
oD(j+(i-1)*3,jj+(i-1)*3)=oD (j+(i-1)*3,jj+(i-1)*3)
& +al/ (pm*0.1d0)
end do
end do
20 continue
if (k.ne.nss*9)stop’hen-Dmatrix’
10 continue
return

end

subroutine Kmatrix(nn2,nk,ns,ndmax,ndmaxl,a,a2,t,ch,qa,qb,
&iken,ic,qqq,rz,x,y,z,qka,qkaa,dn,nss,fr,fti,fto,nakc,a3,as
&,daa,ar,ato,ati)

implicit real*8(a-h,p-z)

implicit complex*16(o)

dimension a(nk,ns,3,3),a2(nk,ns,3,3),rz(nk,ns)

dimension qqq(nk),iken(nk,ns),ic(nk,ns),qgka(nk,ns)
dimension x(nk),y(nk),z(nk),gkaa(nk,ns),dn(ndmax)
dimension fr(ndmax),fti(ndmax),fto(ndmax),nakc(nk,ns)
dimension a3(nk,ns,3,3),a4(nk,ns,3,3),daa(nk,ns)

dimension ar(4),ati(4),ato(4)

aa=1.42d0
pi=atan(1.0d0)*4.0d0
eps2=1.0d-6
rr=ch/(2.0%pi)

O n(n=1,ndmax) OO000O0OOOOOO
fr;Radial, fti,fto;Tangential
fr(1)=36.5d0
fti(1)=24.5d0
fto(1)=9.82d0

o o o

fr(2)=8.80d0
fti(2)=-3.23d0
fto(2)=-0.400d0

fr(3)=3.00d0
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fti(3)=-5.25d0
ft0(3)=0.15d0

fr(4)=-1.92d0
f£1(4)=2.29d0
fto(4)=-0.58d0

(el e] g}

g}

x 000000 j 00000000000000000 qqq
¢ 00000000

st; DO0OOOOOO
c iken(i,ii); 00000
c irst: test 0 OO

irst=0

open(60,file=’tensor’)
do 20 i=1,nn2
tr=0.0d0
do 30 ii=1,nss
tr=0.0

ij=ic(i,ii)

sti=qkaa(i,ii)/ch*2.0d0*pi

fr,fti,fto;x,y,z 0000000

do ijj=1,ndmax1

if (iken(i,ii).eq.ijj) then

tr=dsqrt(abs(dn(ijj)*dn(ijj)-rz(i,ii)*rz(i,ii)))
if(qka(i,ii).1t.0.0d0) then
tr=-tr

endif

if (abs(tr).lt.eps2) then
if(rz(i,ii).gt.0.0d0) then
st2=pi/2.0d0
else
st2=-pi/2.0d0
end if
else
st2=atan(rz(i,ii)/tr)
endif

st=qqq(i)
fri=fto(ijj)+fto(ijj)*(1.0d0-abs(cos(st1/2.0d0)))
c fri=fto(ijj)*(dn(ijj)/daa(i,ii))**3.5
ftol=fti(ijj)+fti(ijj)*abs(sin(st2))
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&*(1.0d0-abs(cos(st1/2.0d0)))
c ftol=fti(ijj)*abs(sin(st2))/( abs(cos(st1/2.0d0)))
ftil=fr(ijj)+
&abs (cos(st2))*fr(ijj)*
&(1.0d0-abs(cos(st1/2.0d0)))

c ftol=fti(ijj)
c ftil=fr(ijj)
c fri=fto(ijj)
endif
end do
c

cs=cos(st2)

ss=sin(st2)

c
a2(i,ii,1,1)=~fr1
a2(i,ii,1,2)= 0.0d0
a2(i,ii,1,3)= 0.0d0
a2(i,ii,2,1)= 0.0d0
a2(i,ii,2,2)=ftil* cs * cs + ftol * ss * ss
a2(i,ii,2,3)=( ftil - ftol ) * ss * cs
a2(i,ii,3,1)=0.0d0
a2(i,ii,3,2)=a2(i,ii,2,3)
a2(i,ii,3,3)=ftol * cs * cs + ftil * ss * ss
c
c
all=a2(i,ii,1,1)
a22=a2(i,ii,2,2)
a23=a2(i,ii,2,3)
a33=a2(i,ii,3,3)
c
cs=cos(st+st1/2.0d40)
ss=sin(st+st1/2.0d0)
c
a(i,ii,1,1)= all*cs*cs + a22*ss*ss
a(i,ii,1,2)= (all-a22)*cs*ss
a(i,ii,1,3)=-a23%*ss
a(i,ii,2,1)= a(i,ii,1,2)
a(i,ii,2,2)= a22*cs*cs + allxss*ss
a(i,ii,2,3)= a23*cs
a(i,ii,3,1)= a(i,ii,1,3)
a(i,ii,3,2)= a(i,ii,2,3)
a(i,ii,3,3)= a33
30 continue
20 continue
c
c
return
end
Cmmmm
c
c 00000000 subroutine(deigch)
c
Cmm mm
c

SUBROUTINE DEIGCH(A,N,N1,NE,NV,EPS,W,LW,E,V)
IMPLICIT REAL*8 (A-H, 0-Z)
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COMPLEX*16 A,V,CR,CS,X
LOGICAL SW, LW
DIMENSION A(N1,N), E(N1), V(N1i,N), W(N1,7), LW(N1)
DREAL (X)=X
DIMAG(X)=-X*(0.0D0,1.0D0)
X=X
IF(N.LE.O .0OR. NE.EQ.0 ) GO TO 910
NEA=IABS (NE)
NVA=IABS(NV)
IF(N1.LT.N .OR. N.LT.NEA .OR. NEA.LT.NVA ) GO TO 920
IF(EPS.LT.0.D0) EPS=1.D-16
NM1=N-1
N2=N-2
IF(N2) 10, 20, 50
C WHEN N=1
10 E(1)=A(1,1)
IF( NV.NE.O ) V(1,1) = 1.0DO
GO TO 900
WHEN N=2
COMPUTE EIGENVALUES OF 2%2 MATRIX
20 CALL ERRSET(207,256,-1,1)
W(l,1)=A(1,1)
W(2,1)=A(2,2)
W(1,2)=CDABS(A(2,1))
A(1,1)=A(2,1)/W(1,2)
T = 0.5D0*(W(1,1)+W(2,1))
R=W(1,1)*W(2,1)-W(1,2)**2
D=T*T-R
Q=DABS (T)+DSQRT (D)
IF(T.LT.0.) Q=-Q
T=T*DFLOAT (NE)
IF(T) 40, 30, 30
30 E(1)=Q
IF(NEA.EQ.2) E(2)=R/Q
GO TO 310
40 E(1)=R/Q
IF(NEA.EQ.2) E(2)=Q
GO TO 310
WHEN N=3,4,...
REDUCE TO TRIDIAGONAL FORM BY HOUSEHOLDER’S METHOD
50 DO 60 I=1,N
60 W(I,1)=A(I,I)
DO 190 K=1,N2
K1=K+1
S=0.
DO 70 I=Ki,N
70 S=S+DREAL(A(I,K))**2+DIMAG(A(I,K))**2
SR = DSQRT(S)
T=CDABS(A(K1,K))
W(K,2)=-SR
IF(T) 90, 80, 90
80 A(K,K) = 1.0DO
GO TO 100
90 A(K,K)=A(K1,K)/T
100 IF(S.EQ.0.) GO TO 190
R = 1.0D0/(S+T*SR)
A(K1,K)=A(K1,K)+SR*A(K,K)
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DO 140 I=K1i,N

€S=(0.,0.)
IF(I.EQ.K1) GO TO 120
IM1 = I-1

DO 110 J=K1,IMi1
110 CS=CS+A(I,J)*A(J,K)
120 CS=CS+W(I,1)*A(I,K)
IF(I.EQ.N) GO TO 140
IP1 = I+1
DO 130 J=IP1,N
130 CS=CS+DCONJG(A(J,I))*A(J,K)
140 A(I,I)=CS*R
€s=(0.,0.)
DO 150 I=K1,N
150 CS=CS+DCONJG(A(I,K))*A(I,I)
CS = 0.5D0*R*CS
DO 160 I=K1,N
160 A(I,I)=A(I,I)-CS*A(I,K)
DO 170 I=K1,N
170 W(I,1) = W(I,1)-2.0DO*DREAL(A(I,K)*DCONJG(A(I,I)))

IP1 = K+2
DO 180 I=IP1,N
IM1 = I-1

DO 180 J=K1,IMi1
180 A(I,J)=A(I,J)-A(I,K)*DCONJIG(A(J,J))-A(I,I)*DCONJIG(A(JI,K))
190 CONTINUE
W(NM1,2)=CDABS (A(N,NM1))
A(NM1,NM1)=A(N,NM1) /W(NM1,2)
C COMPUTE EIGENVALUES BY BISECTION METHOD

CALL ERRSET(207,256,-1,1)
R=DMAX1 ((DABS(W(1,1))+DABS(W(1,2))), (DABS(W(NM1,2))+DABS(W(N,1))))
DO 200 I=2,NM1
T=DABS (W(I-1,2))+DABS(W(I,1))+DABS(W(I,2))
IF(T.GT.R) R=T

200 CONTINUE
EPS1=R*0.1D-15
EPS2=R*EPS
DO 210 I=1,NM1

210 W(I,3)=W(I,2)**2
IF(NE.LT.0) R=-R
F=R
DO 220 I=1,NEA

220 E(I)=-R
DO 300 K=1,NEA
D=E(K)

230 T = 0.5D0* (D+F)
IF(DABS(D-T) .LE.EPS2 .OR. DABS(F-T).LE.EPS2 ) GO TO 300
J=0
I=1

240 Q=W(I,1)-T

250 IF(Q.GE.0.) J=J+1
IF(Q.EQ.0.) GO TO 260
I=I+1
IF(I.GT.N) GO TO 270
CALL OVERFL(L)
Q=W(I,1)-T-W(I-1,3)/Q
CALL OVERFL(L)
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IF(L.NE.1) GO TO 250
J=J+1
I=I-1
260 I=I+2
IF(I.LE.N) GO TO 240
270 IF(NE.LT.0) J=N-J
IF(J.GE.K) GO TO 280
F=T
GO TO 230
280 D=T
M=MINO(J,NEA)
DO 290 I=K,M
290 E(I)=T
GO TO 230
300 E(K)=T
C COMPUTE EIGENVECTORS BY INVERSE ITERATION
310 CALL ERRSET(207, 10, 5,2)
IF(NV.EQ.0) GO TO 900
MM=584287
CALL ERRSET(207,256,-1,1)
DO 490 I=1,NVA
DO 320 J=1,N
W(J,3)=W(J,1)-E(D)
W(J,4)=W(J,2)
320 W(J,7) = 1.0DO
SW=.FALSE.
C REDUCE TO TRIANGULAR FORM
DO 340 J=1,NM1
IF(DABS(W(J,3)).LT.DABS(W(J,2))) GO TO 330
IF(W(J,3).EQ.0.) W(J,3)=1.0D-30
W(J,8)=W(J,2)/W(J,3)
LW(J)=.FALSE.
W(J+1,3)=W(J+1,3)-W(J,6)*W(J,4)
W(J,5)=0.
GO TO 340
330 W(J,8)=W(J,3)/W(J,2)
LW(J)=.TRUE.
W(J,3)=W(J,2)
T=W(J,4)
W(J,4)=W(J+1,3)
W(J,5)=W(J+1,4)
W(J+1,3)=T-W(J,6)*W(J,4)
W(J+1,4)=-W(J,6)*W(J,5)
340 CONTINUE
IF(W(N,3).EQ.0.) W(N,3)=1.0D-30
C BEGIN BACK SUBSTITUTION
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GE.EPS1) GO TO 360
C GENERATE RANDOM NUMBERS
DO 350 J=1,N
MM=MMx48828125
350 W(J,7)=FLOAT(MM)*0.4656613E-9
360 CALL OVERFL(L)
T=W(N,7)
R=W(N-1,7)
370 W(N,7)=T/W(N,3)
W(N-1,7)=(R-W(N-1,4)*W(N,7))/W(N-1,3)
CALL OVERFL(L)



0

B O00000O0O0O0O

99

380

390

400
410

420

430

440

450

460

470

480
490

500

550

560

570

580

590
600

IF(L.NE.1) GO TO 390
DO 380 J=1,N2
W(J,7)=W(J,7)*1.0D-5
T=T#*1.0D-5
R=R*1.0D-5

GO TO 370

IF(N.EQ.2) GO TO 440
K=N2

T=W(K,7)
W(K,7)=(T-W(K,4)*W(K+1,7)-W(K,5) *W(K+2,7)) /W(K,3)
CALL OVERFL(L)
IF(L.NE.1) GO TO 430
DO 420 J=1,N
W(J,7)=W(J,7)%1.0D-5
T=T*1.0D-5

GO TO 410

K=K-1

IF(K) 440,440,400
IF(SW) GO TO 470
SW=.TRUE.

DO 460 J=1,NM1
IF(LW(J)) GO TO 450
W(JI+1,7)=W(I+1,7)-W(J,8)*W(J,7)
GO TO 460

T=W(J,7)
W(J,7)=W(J+1,7)
W(I+1,7)=T-W(J,6)*W(J+1,7)
CONTINUE

GO TO 360

DO 480 J=1,N
V(J,D)=W(J,7)
CONTINUE

BEGIN BACK TRANSFORMATION (1)

CR = 1.0D0

DO 500 J=2,N
CR=CR*A(J-1,J-1)
DO 500 I=1,NVA
V(J,I)=V(J,I)*CR

BEGIN BACK TRANSFORMATION (2)

CALL ERRSET(207, 10, 5,2)
IF(N.EQ.2) GO TO 600

DO 590 I=1,NVA

K=N2

CR=-A(K+1,K)*DCONJG (A(K,K))*W (K,2)
IF (DREAL(CR) .EQ.0.0 .AND. DIMAG(CR).EQ.0.0) GO TO 580
CR = 1.0D0O/CR

€s=(0.,0.)

IP1 = K+1

DO 560 J=IP1,N
CS=CS+DCONJG (A (J,K))*V(J,I)
CR=CR*CS

DO 570 J=IP1,N
V(J,1)=V(J,I)-CR*A(J,K)

K=K-1

IF(K.GE.1) GO TO 550

CONTINUE

CONTINUE
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C NORMALIZE EIGENVECTORS
C NORMALIZE AS MAXIMUM ELEMENT=1
DO 620 I=1,NVA
T=DABS (DREAL(V(1,I)))+DABS(DIMAG(V(1,I)))
K=1
DO 610 J=2,N
R=DABS (DREAL(V(J,I)))+DABS(DIMAG(V(J,I)))
IF(T.GE.R) GO TO 610
T=R
K=J
610 CONTINUE
CR = 1.0DO/V(X,I)
DO 620 J=1,N
620 V(J,I)=V(J,I)*CR
IF(NV.LT.0) GO TO 900
C ORTHOGONALIZE AS NORM=1
DO 680 I=1,NVA
IF(I.EQ.1 .OR. DABS(E(I)-E(I-1)).GT.EPS) GO TO 650
M1 = I-1
DO 640 J=M,IM1
€s=(0.,0.)
DO 630 K=1,N
630 CS=CS+DCONJG(V(K,J))*V(XK,I)
DO 640 K=1,N
640 V(K,I)=V(K,I)-CS*V(K,J)
GO TO 660
650 M=I
C NORMALIZE AS NORM=1
660 S=0.
DO 670 J=1,N
670 S=S+DREAL(V(J,I))**2+DIMAG(V(J,I))**2
T = DSQRT(1.0D0/S)
DO 680 J=1,N
680 V(J,I)=V(J,I)*T
900 RETURN
C PRINT ERROR MESSAGE
910 WRITE(6,1000) N,NE
GO TO 900
920 WRITE(6,1100) NV,NE,N,N1
GO TO 900

1000 FORMAT(1HO,’(SUBR. DEIGCH) N=’,I5,’,NE=’,I5,’ N SHOULD BE GREATER
1 THAN ZERO AND NE SHOULD BE NON-ZERO. RETURN WITH NO CALCULATION.
2 )

1100 FORMAT (1HO,’ (SUBR. DEIGCH) NV=’,I5,’,NE=’,I5,’,N=’,I5,’ ,N1=",1I5,
1’ NV,NE,N,N1i SHOULD SATISFY THE FOLLOWING INEQUALITIES, !NV! <= !N
2E! <= N <= N1 .’ /1H ,’RETURN WITH NO CALCULATION.’ )

END

SUBROUTINE ERRSET(I,J,K,L)
RETURN

END

SUBROUTINE OVERFL (L)
RETURN

END
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B.5 00000OO0OO0OOO

g}

[d ooboboobooooooooooooo
c
c proguramed by T.Takeya
c
c date 9.5.10
c
implicit real*8(a-h,p-z)
parameter (nnn=180,nj=200,n=40,njj=(nj+1))
dimension ejou(nnn),ekj(nnn),eee(3*n,njj)
c
do i=1,nnn
ejou(i)=0.0d0
end do
dw=10.0d0
c
do i=1,nnn
ekj(i)=float(i-1)*dw
end do
c
open(61,file=’p10°)
do j=1,njj
do i=1,3*n
read(61,*)rt,eee(i,j)
end do
end do
close(61)
c
c
c
do j=1,nnn
k=0
do i=1,3*n
do jj=1,njj
if((eee(i,jj).ge.float((j-1))*dw).and.
&(eee(i,jj).1t.float(j)*dw)) then
k=k+1
ejou(j)=dfloat (k)
endif
end do
end do
c if(j.1t.3) then
c write(*,*)ejou(j),ekj(j)
c endif
end do
c
c
[d file OO0 (=’jotail?)
c
open(60,file=’jotail’)
do i=1,nnn
write(60,4)ekj(i),ejou(i)*1.0d2/float(nj+1)/dfloat(n)/dw
end do
4 format(E10.5,f10.5)

close(60)
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c goooooo

ppp=0.0d0
do i=1,nnn
if ((ppp.eq.1).or.(ppp.eq.nnn)) then
ppp=ppp*+ejou(i) /float(nj+1)/dfloat(n)/dw
else
ppPp=ppp+2.0d0*(ejou(i)/float(nj+1)/dfloat (n)/dw)
endif
end do
write (*,*)ppp
write(*,*)’ 000 =’,dw/2.0d0*ppp
stop
end
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B.6 0000000OO0OODODOOO

1.0 0 file= takeya/for/tube/raman /r-it.f:
2.0000: 000 (n,m) 00
00000 takeya/for/tube/raman/ 00000 display OO
nrn-m 000000
3.000000:n-m.xyz(xyz 00 (xmol))=tube-xyz.f
:n-m.near(0 00000 )=saikn.f
n-m.dat2(0 000000000 )=n-m.dat2=tu-phononl.f
4.000000m-m-idat(00000000OO)

B.7 00000O0O0ODOOOOOOODO

c file="takeya/for/tube/raman/r-it.f

c

c 0ooooboOooooOo(@ooooooo)
c

c 000000 :jobname.xyz  xyz OO (xmol)

g}

: jobname-p.dat POOO0O
000000 :jobname-i.dat OOOO0O

g}

c
c na: 00O «x,y,z: 000x,y,z 00 e: O0OOO
c rO: nJUO0O0000OO000DO0ODOO vector
c cai: f000mode D000 nO0O0000OOOO vector
c cai(i,j,k)-> i: x=1,y=2,z=3 j:00000n k:0000D00DOf
[d p: Raman ODOOOOOOOOOO
c p(i,j,k)-> i,j: x=1,y=2,z=3 k: 0000000 £
c d: 400
c alphal 0 3 O0O0ODO
c alphal: a’||l-a |
c -
c alpha2: 2a ’|+a ’||
c -
c alpha3: o |l-a |
c -
c ———--= ooog -------
implicit real*8(a-h,o-z)
character*16 jobname
c character*8 f
c n J0O0O 0.K.
character*8 e
parameter (n=600,mmk=30,nnk=30,ink=mmk*nnk,nl=40,m1=450)
dimension p(3,3,3*n),ei(3%n),th(mmk),phi(nnk)
dimension ai(3#*n),ss(3,mmk,nnk),tt(3,mmk,nnk),f2(mmk)
dimension aii2(3*n,mmk,nnk),aik2(3*n,mmk),
&aiil(3%n,mmk,nnk),aikl(3*n,mmk) ,aikp(3*n,mmk)
dimension p(3,3,3*n),x(n),y(n),z(n),e(n)
dimension r0(3,n,3),cai(3,n,3#n),d(3,3),r0h(3,n,3),r2(n,3)
dimension is(n,4),isi(n,3),caih(3,n,3#*n),cai2(n,3*n)
c dimension a3(ml)

call getarg(l,jobname)
job=index(jobname,’ ’)-1
write(x,x) > OO0OOO0 OOOO 2



OO0 B 00000000 104

al=4.0d0
a2=4.5d0
a3=0.04d0
c
c VV=1,VH=2
c
kv=1
c
c a3=0.0d0

cdo0OOooooao

do i=1,3
do j=1,3
d(i,3)=0.0
end do

end do

do i=1,3
d(i,i)=1.0

end do

C ===—————= Xyz ——=————————-
open(61,file=jobname(:job)//’ .xyz’)
read(61,*) na
if(n.1t.na) then
write(*,*) ’n is smaller than na !!’
stop

end if

do i=1,na
read(61,*) e(i),x(i),y(i),z(i)

end do

close(61)

open(62,file=jobname(:job)//’ .near’)
read(62,%) t
c write(*,*) t
do i=1,na
read(62,*) (is(i,j),j=1,4),(isi(i,j),j=1,3)
end do
close(62)

¢ == ooooog ------
0=(3*na)/8
ni=int (o)
n2=mod (3*na,8)

c write(*,*) ni,n2

open(63,file=jobname(:job)//’.dat2’)
do i=1,n1
read(63,*) (ei((i-1)*8+1),1=1,8)
do j=1,na
do k=1,3
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read(63,*) (cai(k,j,(i-1)*8+1),1=1,8)
end do
end do

end do

if(n2.eq.0) then
goto 200

endif

read(63,%) (ei((i-1)%8+1),1=1,n2)
do j=1,na
do k=1,3
read(63,*) (cai(k,j,n1*8+i),i=1,n2)
end do
end do
close(63)

200 write(*,*) > 0O0OO0OOOOO 1y

¢ --- RO vectorO0QO0QdQO ---
c isi=-1 00 z=z-t

c isi=1 00O z=z+t

do i=1,na
do j=1,3
if(isi(i,j).eq.-1) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,i,j)=y(is(i,j+1))-y (i)
r0(3,i,j)=(z(is(i,j+1))-t)-z(i)
c write(*,*) r0(1,i,j),r0(2,1i,j),r0(3,i,j)
endif
if(isi(i,j).eq.1) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,1i,j)=y(is(i,j+1))-y(i)
r0(3,i,j)=(z(is(i,j+1))+t)-z(i)
c write(*,*) r0(1,i,j),r0(2,1,j),r0(3,1i,j)
endif
if(isi(i,j).eq.0) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,i,j)=y(is(i,j+1))-y(i)
r0(3,i,j)=z(is(i,j+1))-z(i)

c write(*,*) r0(1,i,j),r0(2,1i,j),r0(3,1,j)
endif
end do
end do
€ m e
¢ ---- RO,cai [ unit vector OJOO0O

do i=1,na
do i1=1,3
r=0.0
do m=1,3

r=r+r0(m,i,i1)*r0(m,i,i1)
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end do

r2(i,il)=sqrt(r)

write(70,*) r2(i,i1)
end do

end do

do i=1,na
do i1=1,3
r=0.0
do m=1,3
rOh(m,i,i1)=r0(m,i,i1)/r2(i,i1)
end do
c r=rOh(1,i,i1)**2+r0h(2,i,i1)**2+r0h(3,1,i1)**2
c ri=sqrt(r)
c write(*,*) ri
end do

end do

do k=1,3%*na
do 1=1,na
c=0.0
do i=1,3
c=c+cai(i,l,k)*cai(i,1,k)
end do
cai2(1l,k)=sqrt(c)
end do
end do

do k=1,3%*na
do 1=1,na
do i=1,3
caih(i,1l,k)=cai(i,1,k)/cai2(1,k)
end do
end do
end do

do i=1,3
do j=1,3
do k=1,3%na
p(i,j,k)=0.0
end do

end do

do 10 k=1,3%*na
do 20 j=1,3
do 30 i=1,3
do 40 1=1,na
do 50 m=1,3

c--00 and 000000000 --
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sumrk1=0.0

sumrk2=0.0

do i1=1,3
sumrkl=sumrkil+rOh(il,1,m)*cai(il,1,k)
sumrk2=sumrk2+rOh(i1,1,m)*cai(il,1,k)

end do
€ m
c -——— O0OOOO0 ----
c do ik=1,nnk

pl=(a2*sumrk2+d(i,j))/3.0
p2=al*(rOh(i,1,m)*rOh(j,1,m)-(d(i,j)/3.0))*sumrk?2
p3=rOh(i,1,m)*caih(j,1,k)+rOh(j,1,m)*caih(i,1,k)
p4=2.0%rOh(i,1,m)*rOh(j,1,m)*sumrk?2
p(i,j,k)=p(i,j,k)- (pl+p2+(a3+*(p3-p4))/r2(1,m))

c end do

50 continue
40 continue

30 continue

20 continue

10 continue

c POOOOODODO

open(72,file=’p-vec’)
do in=1,3%*na
write(72,108) ei(in)
do ix=1,3
write(72,109) (p(ix,iy,in),iy=1,3)
end do
end do
108 format(£10.2)
109 format(3f10.5)
close(72)

romax=400
romin=10
open(72,file=’p-vecl’)
do in=1,3%*na
if((ei(in).le.romax).and. (ei(in).ge.romin)) then
write(72,118) ei(in)
do ix=1,3
write(72,119) (p(ix,iy,in),iy=1,3)
end do
118 format(£f10.2)
119 format(3f10.5)
endif
end do
close(72)
c ----- POOO(QOODO) =--------

c oooo
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hb=1.05459
bk=1.38062
t=300.0
€=2.997925
wi=19436.346
Pi=4.0*atan(1.0)

c oo

do i=1,mmk
do jj=1,nnk
do j=1,3
ss(j,1,3j)=0.0
end do
end do

end do

do i=1,mmk
do jj=1,nnk
do j=1,3
tt(j,1,jj)=0.0
end do
end do

end do

dphi=0.25/pi
do L=1,mmk
th(L)=abs(2.0%float(L)-1)/(2.0%float (mmk)) * Pi
£2(L)=dphi*(cos(float(L-1)*Pi/float (mmk))
&-cos (float (L) *Pi/float (mmk)))

end do

do K=1,nnk
phi(K)=(2.0%float(K))/float(nnk) * Pi

end do

do L=1,mmk
do K=1,nnk

ss(1,L,K)=-sin(th(L))
ss(2,L,K)=0.0d0
ss(3,L,K)=cos(th(L))

tt(1,L,K)=cos(th(L))*cos(phi(K))
tt(2,L,K)=-sin(phi (K))
tt(3,L,K)=sin(th(L))*cos(phi(X))
end do

end do
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open(61,file=jobname(:job)//’ .xyz’)
read(61,*) na
if(n.1t.na) then
write(*,*) ’n is smaller than na !!’
stop
end if
close(61)

do i=1,3%*na
ai(i)=0.0

end do

do i=1,3%*na

do L=1,mmk
aik2(i,L)=0.0

end do

end do

do i=1,3*na

do L=1,mmk
aik1(i,L)=0.0

end do

end do

do i=1,3%*na
do L=1,mmk
do j=1,nnk
aii1(i,L,j)=0.0
end do
end do

end do

do i=1,3%*na
do L=1,mmk
do j=1,nnk
aii2(i,L,j)=0.0
end do
end do

end do

do i=1,3%*na
if(ei(i).1t.0.1)then
goto 100

endif
al=1/(exp(hb*ei(i)*c/(bk*t*10))-1)
c VH 00O
do 194 L=1,mmk

do LK=1,nnk
agg=0.0
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do j=1,3
do kk=1,3
aii2(i,L,LK)=ss(j,L,LK)*tt(kk,L,LK)*p(j,kk,i)+agg
agg=aii2(i,L,LK)
end do
end do
cc=aii2(i,L,LK)*aii2(i,L,LK)
cd=(wi-ei(i))**3
aii2(i,L,LK)=cd*(al+1.0)*cc/ei(i)
end do

do jj=1,nnk
aik2(i,L)=aii2(i,L,jj)+aik2(i,L)
end do

194 continue

c
c V(OO
do 195 L=1,mmk
do LK=1,nnk
agg=0.0
do j=1,3
do kk=1,3
aii1(i,L,LK)=ss(j,L,LK)*ss(kk,L,LK)*p(j,kk,i)
&/dfloat (nnk)+agg
agg=aiil(i,L,LK)
end do
end do
cc=aiil(i,L,LK)*aiil(i,L,LK)
cd=(wi-ei(i))**3
aiil(i,L,LK)=cd*(al+1.0)*cc/ei(i)
end do
c
do jj=1,nnk
aik1(i,L)=aiil(i,L,jj)+aik1(i,L)
end do

195 continue

c
c
do L=1,mmk
if(kv.eq.1) then
aikp(i,L)=aik1(i,L)
endif
if(kv.eq.2) then
aikp(i,L)=aik2(i,L)
endif
c
ai(i)=aikp(i,L)*sin(th(L))*pi/mmk#*2.0%pi/nnk+ai(i)
c &+aik2(i,L)*sin(th(L))*pi/mmk*2.0%pi/nnk
end do
c
100 end do
€ mmmm e

do i=1,3*na
if(ei(i).ne.ei(i+1)) then
goto 201
else
ai(i+1)=ai(i+1)+ai(i)
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endif

201 end do

c —====-- Normalization -------
aimax=0.0
do i=1,3%*na

if (aimax.1lt.ai(i)) then
aimax=ai(i)
ee=ei(i)

c abc3=a3(ik)
endif
end do

if(ee.le.200) then
goto 129
endif

write(*,*)aimax,ee

122 continue

129 continue
do i=1,3*na
ai(i)=ai(i)/aimax
end do

write(*,*)’ 00000 =’,aimax*1.0d-6

c write(*,%*)’a3=’,abc3

write(*,*) 6350615.5620460/12771.985444200

open(72,file=jobname(:job)//’-i.dat’)
do i=1,3*na
if(ei(i).ne.ei(i+1)) then
write(72,1001) ei(i),ai(i)
end if
end do
close(72)

1001 format(£10.4,£10.5)
stop
end

B.8 000000O0ODOODOOODODOOODOO

1.0 0 file= takeya/for/tube/raman /nr-it.f:
2.0000: 000000 107(10,10) 00O

00000 takeya/for/tube/raman/ 00000 display OO

nr 10n10-10000000

3.000000:10n10-10.xyz(xyz 0O (xmol))=nanbai.f

:10n10-10.near(0 0 0 0 O O )=nanbai.f
:10n10-10.dat2(0 00000000 0) =Ntu-phononl.f
4.DDDDDD:n—m—i.dat(DDDDDDDDD)

c raman-i JO0000000O0O0O0OO
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(el e] g} g} (el e] g}

g}

C

[

[

’96/8/13 0O

000000 :jobname.xyz  xyz OO (xmol)
:jobname-p.dat POOO0O

000000 :jobname-i.dat OOOO0O

na: 00O «x,y,z: 000x,y,z 00 e: OOOO
rO: nJO0O0000OO000DO00ODOO vector
cai: f000mode D000 nOO0000OOOO vector
cai(i,j,k)-> i: x=1,y=2,z=3 j:00000On k:0000D00DOf
p: Raman ODOOOOOOOOOO
p(i,j,k)-> i,j: x=1,y=2,z=3 k:J00000O0O £
d: d 00O
alphal 0 3 O00OO0O
alphal: o ’|l-a *|
alpha2: 2o ’|+a |

alpha3: o |l-a |

implicit real*8(a-h,o0-z)

character*16 jobname

character*8 f

n 000 0.K.

character*8 e

parameter (n=1200,mmk=30,nnk=30,ink=mmk*nnk,nl=40,m1=450)

dimension p(3,3,3*n),ei(3%n),th(mmk),phi(nnk)
dimension ai(3#*n),ss(3,mmk,nnk),tt(3,mmk,nnk),f2(mmk)
dimension aii2(3*n,mmk,nnk),aik2(3*n,mmk),
&aiil(3%n,mmk,nnk),aikl(3*n,mmk) ,aikp(3*n,mmk)
dimension p(3,3,3*n),x(n),y(n),z(n),e(n)
dimension r0(3,n,3),cai(3,n,3#n),d(3,3),r0h(3,n,3),r2(n,3)
dimension is(n,4),isi(n,3),caih(3,n,3*n),cai2(n,3*n),aca(3,n)
dimension a3(ml).aca(3,n)
call getarg(l,jobname)
job=index(jobname,’ ’)-1
write(*,x) > OJO0O0O0O OOOO 2
al=4.5d0
a2=4.,0d0
a3=0.04d0

VV=1,VH=2
kv=1

a3=0.0d0
dpoOoOooooo

do i=1,3
do j=1,3
d(i,j)=0.0
end do
end do
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do i=1,3
d(i,i)=1.0

end do

C ===—————= XyzZ ——=—————————
open(61,file=jobname(:job)//’ .xyz’)
read(61,*) na
if(n.1t.na) then
write(*,*) ’n is smaller than na !!’
stop

end if

do i=1,na
read(61,*) e(i),x(i),y(i),z(1)

end do

close(61)

open(62,file=jobname(:job)//’ .near’)
c read(62,%) t
c write(*,*) t
do i=1,na
read(62,*) (is(i,j),j=1,4),(isi(i,j),j=1,3)
end do
close(62)

¢ ———--- 000000 ------
0=(3*na)/8
ni=int (o)
n2=mod (3*na,8)

c write(*,*) ni,n2

open(63,file=jobname(:job)//’.dat2’)

do i=1,n1
read(63,*) (ei((i-1)%*8+1),1=1,8)
do j=1,na
do k=1,3
read(63,*) (cai(k,j,(i-1)#*8+1),1=1,8)
end do
end do
end do

if(n2.eq.0) then
goto 200
endif

read(63,*) (ei((i-1)*8+1),1=1,n2)
do j=1,na
do k=1,3
read(63,*) (cai(k,j,n1*8+i),i=1,n2)
end do
end do
close(63)
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200 write(x,x) > O0OOOoOoOOOoQg '

do j=1,na

do k=1,3
aca(k,j)=0.0d0
end do

end do

bai=40.0
do i=1,nax*3
if((i.eq.2318).0r.(i.eq.2321) .or.

&(i.eq.2327).or.
&(i.eq.2333)) then

do j=1,na

do k=1,3

aca(k,j)=cai(k,j,i)*bai+aca(k,j)

end do

end do

endif

end do

open(60,file="v.xyz’)
write(60,*) na
write(60,*)’
do j=1,na
write(60,661) x(j),y(j),z(j),(aca(k,j),k=1,3)
661 format(’C’,6f10.5)
end do
close(60)

[ gooooooo
write(*,x)’ii=’

read (*,*)ii

open(60,file=’20n-z.dat’)
do j=1,na,40

czz=0.0

czz2=0.0

do i=1,na
if(z(j).eq.z(i)) then
czz=cai(3,i,ii)+czz
endif
end do
write(60,662) z(j),czz

do i=1,na
if(z(j+1) .eq.z(i)) then
czz2=cai(3,i,ii)+czz2
endif
end do
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write(60,662) z(j+1),czz2

662 format (2£10.5)
end do
close(60)

open(60,file=’20n-d.dat’)
do j=40,na,40
if(cai(1,j,ii).ge.1.0d-16) then
czz=sqrt(cai(2,j,ii)**2+cai(1,j,1i)**2)*20.0
else
czz=-sqrt(cai(2,j,ii)**2+cai(1,j,1i)**2)*20.0
endif
write(60,663) z(j),czz

write (*,*)x(j)

if(cai(l,j-1,ii).ge.1.0d-16) then
czz=sqrt(cai(2,j-1,ii)**2+cai(1,j-1,1i)*%2)%20.0
else
czz=-sqrt(cai(2,j-1,ii)**2+cai(1,j-1,1ii)*%2)*20.0
endif
write(60,663) z(j-1),czz
write(*,*)x(j-1)
663 format (2£10.5)
end do
close(60)

write(*,*) ’d-end dayo’

C

C

C

[

[

C

C

oo

open(60,file=’gg-eval’)
do i=1,nax*3
write(60,%)i,ei(i)

end do

close(60)

--- RO vector Qg ---
isi=-1 00 z=z-t
isi=1 OO0 z=z+t

do i=1,na
do j=1,3
if(isi(i,j).eq.0) then
ro(1,1,j)=0.0d0
r0(2,i,j)=0.0d0
r0(3,i,j)=0.0d0
write(*,*) r0(1,i,j),r0(2,1,j),r0(3,1i,j)
endif
if(isi(i,j).eq.1) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,i,j)=y(is(i,j+1))-y(i)
r0(3,i,j)=z(is(i,j+1))-z(i)
write(*,*) r0(1,i,j),r0(2,1i,j),r0(3,i,j)
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¢ ---- RO,cai [ unit vector OJOO0O

do i=1,na

do i1=1,3
r=0.0
do m=1,3

r=r+r0(m,i,i1)*r0(m,i,i1)

end do
r2(i,i1)=sqrt(r)
write(70,%) r2(i,il)

end do

end do

do i=1,na
do i1=1,3
if(isi(i,il1).eq.1) then
r=0.0
do m=1,3
rOh(m,i,i1)=r0(m,i,i1)/r2(i,i1)
end do
endif
¢ r=rOh(1,i,i1)**2+r0h(2,1i,i1)**2+rOh(3,1i,il1)**2
c ri=sqrt(r)
c write(*,*) ril
end do
end do

do k=1,3%*na

do 1=1,na
c=0.0
do i=1,3

c=c+cai(i,l,k)*cai(i,1,k)

end do
cai2(1,k)=sqrt(c)

end do

end do

do k=1,3%*na
do 1=1,na
do i=1,3
caih(i,l,k)=cai(i,1,k)/cai2(1,k)
end do
end do

end do
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do 10 k=1,3%*na
do 20 j=1,3
do 30 i=1,3
do 40 1=1,na
do 50 m=1,3

c --00 and OO0O0OOODOOO --

sumrk1=0.0

sumrk2=0.0

do i1=1,3
sumrkil=sumrki+rOh(i1,1,m)*cai(il,1,k)
sumrk2=sumrk2+rOh(i1,1,m)*cai(il,1,k)

end do
€ mm e
c -———— Q000000 =----
c do ik=1,nnk
if(isi(l,m).eq.1) then
pl=(a2*sumrk2+d(i,j))/3.0
p2=al*(rOh(i,1,m)*rOh(j,1,m)-(d(i,j)/3.0))*sumrk?2
p3=rOh(i,1,m)*caih(j,1,k)+rOh(j,1,m)*caih(i,1,k)
p4=2.0%rOh(i,1,m)*rOh(j,1,m)*sumrk?2
p(i,j,k)=p(i,j,k)-(pl+p2+(a3*(p3-p4))/r2(1,m))
c end do
endif
50 continue
40 continue
30 continue
20 continue

10 continue

pOOO0OOOOO

open(72,file=’p-vec’)
do in=1,3*na
write(72,108) ei(in)
do ix=1,3
write(72,109) (p(ix,iy,in),iy=1,3)
end do
end do
108 format(£10.2)
109 format(3f10.5)
close(72)

romax=400
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romin=10
open(72,file=’p-vecl’)
do in=1,3%*na
if((ei(in).le.romax) .and. (ei(in) .ge.romin)) then
write(72,118) ei(in)
do ix=1,3
write(72,119) (p(ix,iy,in),iy=1,3)
end do
118 format(£10.2)
119 format(3£f10.5)

endif
end do
close(72)
c —-——-- POOO(MOOO) =========
c
c googd
c
c
c
hb=1.05459
bk=1.38062
t=300.0
¢=2.997925
wi=19436.346
Pi=4.0*atan(1.0)
c
c
c
c
c 0ooo
c
do i=1,mmk
do jj=1,nnk
do j=1,3
ss(j,1,jj)=0.0
end do
end do
end do
c
do i=1,mmk
do jj=1,nnk
do j=1,3
tt(j,1,jj)=0.0
end do
end do
end do
c
c
dphi=0.25/pi
do L=1,mmk
th(L)=abs(2.0%float(L)-1)/(2.0%float (mmk)) * Pi
£2(L)=dphi*(cos(float(L-1)*Pi/float (mmk))
&-cos(float (L)*Pi/float (mmk)))
end do
c
do K=1,nnk

phi(K)=(2.0%float(K))/float(nnk) * Pi
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end do

do L=1,mmk
do K=1,nnk

ss(1,L,K)=-sin(th(L))
ss(2,L,K)=0.0d0
ss(3,L,K)=cos(th(L))

tt(1,L,K)=cos(th(L))*cos(phi(X))
tt(2,L,K)=-sin(phi(K))
tt(3,L,K)=sin(th(L))*cos(phi(K))
end do

end do

open(61,file=jobname(:job)//’ .xyz’)
read(61,*) na
if(n.1t.na) then
write(*,*) ’n is smaller than na !!’
stop
end if
close(61)

do i=1,3%*na
ai(i)=0.0

end do

do i=1,3%*na

do L=1,mmk
aik2(i,L)=0.0

end do

end do

do i=1,3*na

do L=1,mmk
aik1(i,L)=0.0

end do

end do

do i=1,3%*na
do L=1,mmk
do j=1,nnk
aii1(i,L,j)=0.0
end do
end do

end do

do i=1,3%*na
do L=1,mmk
do j=1,nnk
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aii2(i,L,j)=0.0
end do
end do

end do

do i=1,3%*na
if(ei(i).1t.0.1)then
goto 100

endif
al=1/(exp (hb*ei(i)*c/(bk*t*10))-1)
c VH 00O

do 194 L=1,mmk
do LK=1,nnk
agg=0.0
do j=1,3
do kk=1,3
aii2(i,L,LK)=ss(j,L,LK)*tt(kk,L,LK)*p(j,kk,i)+agg
agg=aii2(i,L,LK)
end do
end do
cc=aii2(i,L,LK)*aii2(i,L,LK)
cd=(wi-ei(i))**3
aii2(i,L,LK)=cd*(al+1.0)*cc/ei(i)
end do

do jj=1,nnk
aik2(i,L)=aii2(i,L,jj)+aik2(i,L)
end do

194 continue

c
c Vv OO
do 195 L=1,mmk
do LK=1,nnk
agg=0.0
do j=1,3
do kk=1,3
aii1(i,L,LK)=ss(j,L,LK)*ss(kk,L,LK)*p(j,kk,i)
&/dfloat (nnk)+agg
agg=aiil(i,L,LK)
end do
end do
cc=aiil(i,L,LK)*aiil(i,L,LK)
cd=(wi-ei(i))**3
aiil(i,L,LK)=cd*(al+1.0)*cc/ei(i)
end do
c
do jj=1,nnk
aik1(i,L)=aiil(i,L,jj)+aik1(i,L)
end do

195 continue
c
c
do L=1,mmk
if(kv.eq.1) then



OO0 B 00000000

121

122

129

aikp(i,L)=aik1(i,L)
endif

if(kv.eq.2) then
aikp(i,L)=aik2(i,L)

endif

ai(i)=aikp(i,L)*sin(th(L))*pi/mmk*2.0%pi/nnk+ai(i)
&+aik2(i,L)*sin(th(L))*pi/mmk*2.0%pi/nnk

end do

do i=1,3*na
if(ei(i) .ne.ei(i+1)) then
goto 201
else
ai(i+1)=ai(i+1)+ai(i)
endif
end do

---- Normalization -------

aimax=0.0
do i=1,3%*na

if (aimax.1lt.ai(i)) then
aimax=ai(i)
ee=ei(i)
abc3=a3(ik)
endif
end do
if(ee.le.200) then
goto 129
endif
write(*,*)aimax,ee
continue

continue
do i=1,3%*na
ai(i)=ai(i)/aimax

end do

write(*,%)’ O0OO0O0O =’,aimax*1.0d-6
write(*,%*)’a3=’,abc3
write(*,*) 6350615.5620460/12771.985444200

open(72,file=jobname(:job)//’-i.dat’)
do i=1,3*na
if(ei(i).ne.ei(i+1)) then
write(72,1001) ei(i),ai(i)
end if
end do
close(72)
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1001 format(£10.4,£10.2)
stop

end
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B9 00000000OO0OO0OOO(UOOOO)

00 file= takeya/for/tube/raman/r-itsxy.f 2. 0 000: 000000 (n,m) OO
00000 takeya/for/tube/raman/ 00000 display OO
“f77 -o rs r-itsxyz.f”
“rs n-m”
oooog
oooooo
3.000000:m-m.xyz(xyz 00O (xmol))=tube-xyz.f
:n-m.near(0 0 0000 )=saikn.f
n-m.dat2(0 000000000 )=tu-phononl.f4. 000000 n-m-isdat(00000000000C00OO)

c file="takeya/for/tube/raman/r-itsxy.f
c

c 000o00o00o0oo0ooo (moooo)

c ’96/8/13 0O

c 000000 :jobname.xyz  xyz OO (xmol)

g}

:jobname-p.dat POOO0O
000000 :jobname-i.dat OOOO0O

g}

c
c na: 00O «x,y,z: 000x,y,z 00 e: O0OOO
c rO: nJUO0O0000O000DO0ODOO vector
c cai: f000mode D000 nO0O0000OOOO vector
c cai(i,j,k)-> ai(116,L),i: x=1,y=2,2z=3 j: 00000n k:0000000 £
[d p: Raman ODOOOOOOOOOO
c p(i,j,k)-> i,j: x=1,y=2,z=3 k: 0000000 £
c d: 400
c alphal 0 3 0O0O0O0O
c alphal: a’||l-a |
c -
c alpha2: 2a ’|+a ’||
c -
c alpha3: o |l-a |
c -
c —===-= goog -------

implicit real*8(a-h,o0-z)

character*16 jobname
c character*8 f
c n J0O0O 0.K.

character*8 e
parameter (n=300,mmk=500,nnk=2,ink=mmk*nnk,nl=40,m1=450)

dimension p(3,3,3*n),ei(3%n),th(mmk),phi(nnk)
dimension ai(3*n,mmk),ss(3,mmk),tt(3,mmk),f2(mmk)
dimension aihv(3*n,mmk),aivv(3*n,mmk)

dimension p(3,3,3*n),x(n),y(n),z(n),e(n)

dimension r0(3,n,3),cai(3,n,3#n),d(3,3),r0h(3,n,3),r2(n,3)
dimension is(n,4),isi(n,3),caih(3,n,3#*n),cai2(n,3*n)
call getarg(l,jobname)

job=index (jobname,’ ’)-1

write(*,x) > OJOOOO OOOO 2

al1=5.0d0

a2=4.5d0

a3=0.04d0
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c obobobooooon ---y Osksita=1 x 0 ;ksita=2 z [0 ;ksita=3

c
ksita=2
c
c VV;kv=1 VH; kv=2
c
kv=1

codooood

do i=1,3
do j=1,3
d(i,j)=0.0d0
end do

end do

do i=1,3
d(i,1)=1.0d0
end do

C —m==———-= Xyz ———-——=—-—---
open(61,file=jobname(:job)//’ .xyz’)
read(61,%) na
if(n.1lt.na) then
write(*,*) ’n is smaller than na !'!’
stop

end if

do i=1,na
read(61,*) e(i),x(i),y(i),z(1)

end do

close(61)

open(62,file=jobname(:job)//’ .near’)
read(62,*) t
c write(*,*) t
do i=1,na
read(62,*) (is(i,j),j=1,4),(isi(i,j),j=1,3)
end do
close(62)

¢ ———--- 000000 ------
0=(3*na)/8
ni=int (o)
n2=mod (3*na,8)

c write(*,*) ni1,n2

open(63,file=jobname(:job)//’.dat2’)
do i=1,nl
read(63,*) (ei((i-1)*8+1),1=1,8)
do j=1,na
do k=1,3
read(63,*) (cai(k,j,(i-1)*8+1),1=1,8)

end do
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end do
end do

if(n2.eq.0) then
goto 200
endif

read(63,%) (ei((i-1)*8+1),1=1,n2)
do j=1,na
do k=1,3
read(63,*) (cai(k,j,n1*8+i),i=1,n2)
end do
end do
close(63)

200 write(x,x) > OOOOOoOoOOoQ

c --- RO vector o ---
c isi=-1 00 z=z-t
c isi=1 00O z=z+t

do i=1,na
do j=1,3
if(isi(i,j).eq.-1) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,1i,j)=y(is(i,j+1))-y(i)
r0(3,i,j)=(z(is(i,j+1))-t)-z(i)
c write(*,*) r0(1,i,j),r0(2,1,j),r0(3,1i,j)
endif
if(isi(i,j).eq.1) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,i,j)=y(is(i,j+1))-y(i)
r0(3,1,j)=(z(is(i,j+1))+t)-z(i)
c write(*,*) r0(1,i,j),r0(2,1i,j),r0(3,i,j)
endif
if(isi(i,j).eq.0) then
r0(1,i,j)=x(is(i,j+1))-x(i)
r0(2,1i,j)=y(is(i,j+1))-y(i)
r0(3,i,j)=z(is(i,j+1))-z(i)
c write(*,*) r0(1,i,j),r0(2,1,j),r0(3,1,j)
endif
end do

end do

¢ ---- RO,cai [0 unit vector OO OO

do i=1,na
do i1=1,3
r=0.0d0
do m=1,3
r=r+rO0(m,i,i1)*rO(m,i,il)
end do
r2(i,i1)=sqrt(r)
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write(70,*) r2(i,il)
end do

end do

do i=1,na
do i1=1,3
r=0.0d0
do m=1,3
rOh(m,i,i1)=r0(m,i,i1)/r2(i,i1)
end do
c r=rOh(1,i,i1)**2+r0h(2,i,i1)**2+r0h(3,1,i1)**2
c ri=sqrt(r)
c write(*,*) ril
end do
end do

do k=1,3%na

do 1=1,na
¢=0.0d0
do i=1,3

c=c+cai(i,l,k)*cai(i,1,k)

end do
cai2(1,k)=sqrt(c)

end do

end do

do k=1,3%*na
do 1=1,na
do i=1,3
caih(i,l,k)=cai(i,1,k)/cai2(1,k)
end do
end do

end do

p(i,j,k)=0.0d0
end do
end do

end do

do 10 k=1,3%*na
do 20 j=1,3
do 30 i=1,3
do 40 1=1,na
do 50 m=1,3

c--00 and 000000000 --

sumrk1=0.0
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sumrk2=0.0

do i1=1,3
sumrkl=ppsumrki1+rOh(il,1,m)*cai(il,1,k)
sumrk2=sumrk2+rOh(il,1,m) *cai(il,1,k)

end do
€ m
c -——— O0OOOO0 ----
c do ik=1,nnk

pl=(a2*sumrk2+d (i, j))/3.0d0
p2=al*(rOh(i,1,m)*rOh(j,1,m)-(d(i,j)/3.0))*sumrk2
p3=rOh(i,1,m)*caih(j,1,k)+r0Oh(j,1,m)*caih(i,1,k)
p4=2.0%rOh(i,1,m)*rOh(j,1,m)*sumrk?2
p(i,j,k)=p(i,j,k)-(p1+p2+(a3*(p3-p4))/r2(1,m))

c end do

50 continue
40 continue

30 continue

20 continue

10 continue

¢ —---- PO0D(OO000) ---------
Cc

c oooo

C

C

hb=1.05459d0
bk=1.38062d0
t=300.0d0
€=2.997925d0
wi=19436.346d0
Pi=4.0d0*atan(1.0d0)

ooo

do i=1,mmk
do j=1,3
ss(j,1)=0.0d0
end do

end do

do i=1,mmk
do j=1,3
tt(j,1)=0.0d0
end do

end do

dphi=0.25/pi
do L=1,mmk
th(L)=abs(1.0d0*dfloat(L)-1)/(2.0d0*dfloat (mmk)) * Pi
£2(L)=dphi*(cos(dfloat (L-1)*Pi/dfloat (mmk))
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&-cos(float (L)*Pi/dfloat (mmk)))
end do

do K=1,nnk
phi(K)=(2.0*float(K))/float(nnk) * Pi
end do

ss;V OO, tt;H OO

if(ksita.eq.1) then
do L=1,mmk
ss(1,L)=sin(th(L))
ss(2,L)=0.0d0
ss(3,L)=cos(th(L))

tt(1,L)=cos(th(L))
tt(2,L)=0.0d0
tt(3,L)=-sin(th(L))
end do

endif

if(ksita.eq.2) then
do L=1,mmk
ss(1,L)=0.0d0
ss(2,L)=sin(th(L))
ss(3,L)=cos(th(L))

tt(1,L)=1.0d0
tt(2,L)=0.0d0
tt(3,L)=0.0d0
end do

endif

if(ksita.eq.3) then
do L=1,mmk
ss(1,L)=0.0d0
ss(2,L)=0.0d0
ss(3,L)=1.04d0

tt(1,L)=cos(th(L))
tt(2,L)=-sin(th(L))
tt(3,L)=0.0d0

end do

endif

g}

(el e]
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(el e]

C

do i=1,3*na
do L=1,mmk
ai(i,L)=0.0d0
end do

end do

do i=1,3%*na

do L=1,mmk
aihv(i,L)=0.0d0

end do

end do

do i=1,3*na

do L=1,mmk
aivv(i,L)=0.0d40

end do

end do

do i=1,3*na
if(ei(i).1t.0.1)then
goto 100

endif

al=1/(exp(hb*ei(i)*c/(bk*t*10))-1)

VH 00O

do L=1,mmk
agg=0.0d0
do j=1,3
do kk=1,3

aihv(i,L)=ss(j,L)*tt(kk,L)*p(j,kk,i)+agg

agg=aihv(i,L)

end do

end do
cc=aihv(i,L)*aihv(i,L)
cd=(wi-ei(i))**3

aihv(i,L)=cd*(al1+1.0d0)*cc/ei (i)

end do

v oo

do L=1,mmk
agg=0.0d0
do j=1,3
do kk=1,3

aivv(i,L)=ss(j,L)*ss(kk,L)*p(j,kk,i)+agg

agg=aivv(i,L)
end do
end do

cc=aivv(i,L)*aivv(i,L)
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201

cd=(wi-ei(i))**3
aivv(i,L)=cd*(al+1.0)*cc/ei(i)

end do

do i=1,3*na
HV o.r VV

if(kv.eq.1) then
ai(i,L)=aivv(i,L)
endif

if(kv.eq.2) then
ai(i,L)=aihv(i,L)

endif

if(ei(i) .ne.ei(i+1)) then
goto 201
else
ai(i+1,L)=ai(i+1,L)+ai(i,L)
endif
end do
end do
if(ai(13,10).gt.ai(14,10))stop ’hen’
--- Data OO0 --------
open(72,file=jobname(:job)//’-is.dat’)
moto=7
dk=1.0d-12

if (moto.ge.7) then

do L=1,mmk

write(72,1011) th(L)*180d0/pi,ai(8,L)*dk,ai(12,L)*dk
&,ai(14,L)*dk,ai(95,L)*dk,ai(108,L)*dk,ai(110,L) *dk,
&ai(116,L)*dk

end do

endif
close(72)
0 0oO0boooooo ooooa

K=10
sL=th(K)*180.0d0/pi
write(*,*) sL
open(72,file=jobname(:job)//’-iss.dat’)
do i=1,nax*3
if(ei(i).ne.ei(i+1)) then
write(72,1001) ei(i),ai(i,K)
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end if
end do
close(72)

1001 format(£10.4,’ ’,£10.5)
1011 format(£10.5,7£25.5)
stop
end



Jubodogdboodod

o DD

- 0 1200000000000000 (0000 10)
gobooouooooooboooogo
T. Takeya, R. Saito,T. Kimura G. Dresselhaus, M. S. Dresselhaus

- 000000 199700000 (D000 30)
gooddoooooooobooboooooooooo
T. Takeya, R. Saito,T. Kimura G. Dresselhaus, M. S. Dresselhaus

— 00000011997 00oooaa (DDDD IOD)
dobododoooooooooooooooon
T. Takeya, R. Saito,T. Kimura G. Dresselhaus, M. S. Dresselhaus

—gooooo199suoooadao (DD 100 3|:|)
gbdoououooouoouoouoouoooo
T. Takeya, R. Saito,T. Kimura G. Dresselhaus, M. S. Dresselhaus

e OO
Raman Intensity of Single-Wall Carbon Nanotubes
R. Saito, T. Takeya,T. Kimura G. Dresselhaus, M. S. Dresselhaus,
Phys. Rev. B15(1998) 0 0O O

132



